WWW.prepp.in

prepp

Your Personal Exams Guide

UGC NET PAPER 2 DECEMBER 03, 2021 SHIFT 1 KASHMIRI QUESTION PAPER

| Topic:- Kashmiri_SET1_A
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[Question ID = 2179][Question Description = Q01_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8713]
2. 2 [Option ID = 8714]
3. 3 [Option ID = 8715]
4. 4 [Option ID = 8716
Correct Answer ;-

e 1 [Option ID = 8713]
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[Question ID = 2180][Question Description = Q02_Kashmiri_SHAAN_3DEC_S1_5Shift1]
1. 1 [Option ID = 8717]
2. 2 [Option ID = 8718]
3. 3 [Option ID = 8719]
4, 4 [Option ID = 8720]
| Correct Answer :-
a 1 [Option ID = 8717]
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[Question ID = 2181][Question Description = Q03_Kashmiri_SHAAN_3DEC_S51_Shift1]
1, 1 [Option ID = 8721]
2. 2 [Optien ID = 8722]
3. 3 [Optien ID = 8723]
4. 4 [Option ID = 8724

Correct Answer :-
e 1 [Option ID = 8721]
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[Question ID = 2182][Question Description = Q04_Kashmiri_SHAAN_3DEC_S51_Shift1]
| 1. 1 [Option ID = 8725]
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| 2. 2 [Option ID = 8726]
3. 3 [Option ID = 8727]
4. 4 [Option ID = 8728]
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Correct Answer :-
& 1 [Option ID = 8725]
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[Question ID = 2183][Question Description = Q05_Kashmiri_SHAAN_3DEC_51_Shift1]

1. 1 [Option ID = 8729]
2. 2 [Option ID = 8730]
3. 3 [Option ID = 8731]
4. 4 [Option ID = 8732]
Carrect Answer :-

e 1 [Option ID = 8729]
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[Question ID = 2184][Question Description = Q06_Kashmiri_SHAAN_3DEC_S1_5Shift1]

1. 1 [Option ID = 8733]
2. 2 [Option ID = 8734)]
3. 3 [Option ID = 8735)
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[Question ID = 2185][Question Description = Q07_Kashmiri_SHAAN_3DEC_S1_5Shift1]

1. 1 [Option ID = 8737]
2. 2 [Option ID = 8738]
3. 3 [Option ID = 8739)

Carrect Answer ;-
& 1 [Option ID = 8737]
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[Question ID = 2186][Question Description = Q08_Kashmiri_SHAAN_3DEC_S1_Shift1]

1. 1 [Option ID = 8741]
| 2. 2 [Option ID = 8742]
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| 3. 3 [Option ID = 8743]
4. 4 [Option ID = 8744]

Carrect Answer ;-
& 1 [Option ID = 8741]
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[Question ID = 2187][Question Description = Q09_Kashmiri_SHAAN_3DEC_S1_5Shift1]
1. 1 [Option ID = 8745]
2. 2 [Option ID = 8746]
3. 3 [Option ID = 8747]
4. 4 [Option ID = 8748)

Correct Answer :-
a 1 [Option ID = 8745]

b (VD) § S © @Preposition) b 244 (D
Aff :;,."" (4) A:f P

[Question ID = 2188][Question Description = Q10_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8749]
2. 2 [Option ID = 8750]
3. 3 [Option ID = 8751]
4, 4 [Option ID = 8752]

Correct Answer ;-
e« 1 [Option ID = 874%]
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[Question ID = 2189][Question Description = Q11_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8753]
2. 2 [Option ID = 8754]
3. 3 [Option ID = 8755]
4, 4 [Option ID = 8756]

Correct Answer ;-
e« 1 [Option ID = 8753]
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[Question ID = 2190][Question Description = Q12_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8757]
2. 2 [Option ID = 8758]

| 3. 3 [Option ID = 8759]
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| 4. 4 [Option ID = 8760] Your Personal Exams Guide

Carrect Answer ;-
& 1 [Option ID = 8757]
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[Question ID = 2191][Question Description = Q13_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8761]

2. 2 [Option ID = 8762]

3. 3 [Option ID = 8763]

4. 4 [Option ID = 8764]

Correct Answer ;-

e 1 [Option ID = 8761]
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[Question ID = 2192][Question Description = Q14_Kashmiri_SHAAN_3DEC_S1_5Shift1]
1. 1 [Option ID = 8765]
2. 2 [Option ID = 8766]
3. 3 [Option ID = 8767]
4. 4 [Option ID = 8768]

Carrect Answer ;-
& 1 [Option ID = 8765]
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[Question ID = 2193][Question Description = Q15_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8769]
2. 2 [Option ID = 8770]
3. 3 [Option ID = 8771]
4, 4 [Option ID = 8772]

Correct Answer ;-

e 1 [Option ID = 8769]
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[Question ID = 2194][Question Description = Q16_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8773]
2. 2 [Option ID = 8774]

| 3. 3 [Option ID = 8775]
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| 4. 4 [Option ID = 8776]
Carrect Answer ;-
& 1 [Option ID = 8773]
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[Question ID = 2195][Question Description = Q17_Kashmiri_SHAAN_3DEC_51_5Shift1]
1. 1 [Option ID = 8777)
2. 2 [Option ID = 8778
3. 3 [Option ID = 8779]
4. 4 [Option ID = 8780
Correct Answer ;-
e 1 [Option ID = 8777]
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[Question ID = 2196][Question Description = Q18_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Optien ID = 8781]
2. 2 [Optien ID = 8782]
3. 3 [Option ID = 8783]
4. 4 [Option ID = 8784]

Correct Answer ;-
e 1 [Option ID = 8781]
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[Question ID = 2197][Question Description = Q19_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8785]

2. 2 [Option ID = 8786

3. 3 [Option ID = 8787]

4. 4 [Option ID = 8788

Correct Answer :-

e 1 [Option ID = 8785]
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[Question ID = 2198][Question Description = Q20_Kashmiri_SHAAN_3DEC_S1_Shift1]
. 1 [Optien ID = 878%]
. 2 [Option ID = 8790]
. 3 [Option ID = 8791]
4 [Option 1D = 8792]
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a 1 [Option ID = 8789]
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[Question ID = 2199][Question Description = Q21_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8793]
2. 2 [Option ID = 8794]
3. 3 [Option ID = 8795]
4, 4 [Option ID = 8?96]

Eorrect hnswer
e 1 [Option ID = 8793]
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[Question ID = 2200][Question Description = Q22_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8797]
2. 2 [Option ID = 8798]
3. 3 [Option ID = 8799]
4, 4 [Option ID = BB{}D]

Eorrect hnswer
e 1 [Option ID = 8797]

23)

oz U T S e
SIred o Jrosl
4 s a P
FL i @ /f)/ Jg @

[Question ID = 2201][Question Description = Q23_Kashmiri_SHAAN_3DEC_S1_Shift1]
1 [Opticn ID = 8801]

2. 2 [Option ID = 8802]

3. 3 [Option ID = 8803]

4, 4 [Option ID = BB{M]

C.nrrect hnswer
a 1 [Option ID = 8801]
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[Question ID = 2202][Question Description = Q24_Kashmiri_SHAAN_3DEC_S1_Shift1]
1 [Option ID = 8805]
| 2. 2 [Option ID = 8806]
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| 3. 3 [Option ID = 8807)
4. 4 [Option ID = 8808)

Carrect Answer ;-
& 1 [Option ID = 8805]
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[Question ID = 2203][Question Description = Q25_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8809]
2. 2 [Option ID = 8810]
3. 3 [Option ID = 8811]
4. 4 [Option ID = 8812]

Correct Answer ;-
« 1 [Option ID = 8809]
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[Question ID = 2204][Question Description = Q26_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8813]
2. 2 [Option ID = 8814]
3. 3 [Option ID = 8815]
4. 4 [Option ID = 8816]
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Correct Answer ;-
e 1 [Option ID = 8813]
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[Question ID = 2205][Question Description = Q27 _Kashmiri_SHAAN_3DEC_51_Shift1]
1. 1 [Optien ID = 8817]
2. 2 [Option ID = 8818]
3. 3 [Option ID = 8819]
4. 4 [Option ID = 8820]

| Correct Answer -
e 1 [Option ID = 8817]
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[Question ID = 2206][Question Description = Q28_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Optien ID = 8821]
2. 2 [Option ID = 8822]
3. 3 [Option ID = 8823]
4. 4 [Option ID = 8824]

Correct Answer ;-
e 1 [Option ID = 8821]
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[Question ID = 2207][Question Description = Q29_Kashmiri_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8825]

2. 2 [Option ID = 8826

3. 3 [Option ID = 8827]

4. 4 [Option ID = 8828

Correct Answer :-

e 1 [Option ID = 8825]
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[Question ID = 2208][Question Description = Q30_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8829]
2. 2 [Option ID = 8830]
3. 3 [Option ID = 8831]
4, 4 [Option ID = 8832]

Correct Answer :-
e 1 [Option ID = 8829]
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[Question ID = 2209][Question Description = Q31_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8833]
2. 2 [Option ID = 8834]
3. 3 [Option ID = 8835]
4, 4 [Option ID = 8836]

Correct Answer ;-
a 1 [Option ID = 8833]
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[Question ID = 2210][Question Description = Q32_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8837]
2. 2 [Option ID = 8838]
3. 3 [Option ID = 8839]
4, 4 [Option ID = 8840]

Eorrect hnswer -
e 1 [Option ID = 8837]
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[Question ID = 2211][Question Description = Q33_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8841]
2. 2 [Option ID = 8842]
3. 3 [Option ID = 8843]
4, 4 [Option ID = 8844]

Eorrect hnswer -
. 1[Dptwn ID = 8841]
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[Question ID = 2212][Question Description = Q34_Kashmiri_SHAAN_3DEC_S1_Shift1]
1 [Option ID = 8845]

2. 2 [Option ID = 8846]

3. 3 [Option ID = 8847)

4. 4 [Option ID = 8848]

Correct Answer :-
& 1 [Option ID = 8845]
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[Question ID = 2213][Question Description = Q35_Kashmiri_SHAAN_3DEC_S1_5Shift1]
1 [Option ID = 8849]

2. 2 [Option ID = 8850]

3. 3 [Option ID = 8851]

4. 4 [Option ID = 5552]

Currect Answer -
o 1 [Option ID = 8849]
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[Question ID = 2214][Question Description = Q36_Kashmiri_SHAAN_3DEC_S1_Shift1]
| 1. 1[Option ID = 8853
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| 2. 2 [Option ID = 8854]
3. 3 [Option ID = 8855]
4. 4 [Option ID = 8856]

Correct Answer :-
& 1 [Option ID = 8853]
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[Question ID = 2215][Question Description = Q37_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8857
2. 2 [Option ID = 8858
3. 3 [Option ID = 8859]
4. 4 [Option ID = 8860
Correct Answer ;-
& 1 [Option ID = 8857]
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[Question ID = 2216][Question Description = Q38_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8861]

2. 2 [Option ID = 8862]

3. 3 [Option ID = 8863]

4, 4 [Option ID = 8864]

Correct Answer :-

e 1 [Option ID = 8861]
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[Question ID = 2217][Question Description = Q39_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8865]
2. 2 [Option ID = B866]
3. 3 [Option ID = B867]
4, 4 [Option ID = 8863]

Correct Answer ;-
e 1 [Option ID = 8865]
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[Question ID = 2218][Question Description = Q40_Kashmiri_SHAAN_3DEC_S1_Shift1]

prepp

Your Personal Exams Guide

?db‘fgjlfJJUbéu;JLJf“)’



WWW.prepp.in 'repp

1 [Option ID = 8869] Your Personal Exams Guide
2 [Option ID = 8870]

3 [Option ID = 8871]
4 [Option ID = 8872]
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Correct Answer :-
& 1 [Option ID = 8869]
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Choose the correct answer from the options given below :
(&), (B), (C), D)y only (2) A). (B). (O). E)only (1)
(B). (C), (D). (E)only (4 A), (C). D). (Eyonly  (3)

[Question ID = 2219][Question Description = Q41_Kashmiri_SHAAN_3DEC_S1_5Shift1]
1. 1 [Optien ID = 8873]
2. 2 [Option ID = 8874]
3. 3 [Option ID = 8875]
4, 4 [Option ID = 8876]

Correct Answer ;-
a 1 [Option ID = 8873]
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Choose the correct answer from the options given below :
A), D), (C), (B)only (2) &), B), (C), D)only (1)
(B), (C). D), Ay only A, B). (C). (Eyonly (3)

[Question ID = 2220][Question Description = Q42_Kashmiri_SHAAN_3DEC_51_5Shift1]
1. 1 [Option ID = 8877]
2. 2 [Option ID = 8878
3. 3 [Option ID = 8879

Correct Answer :-
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(A4). B). (C). D) only (2)
(C), (D), (A), (Byonly (4)

» 1 [Option ID = 8877
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Choose the correct answer from the options given below :
(A). B). (). (Eyonly (1)
D), (B). (C). A)only  (3)

[Question ID = 2221][Question Description = Q43_Kashmiri_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8881]
2. 2 [Option ID = 8882]
3. 3 [Option ID = 8883]
4. 4 [Option ID = 8884]
Correct Answer :-
e 1 [Option ID = 8881]
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Choose the correct answer from the options given below :

(C). D). (A), (E)only (2)
(A), (B), (C), (E) only (4)

1. 1 [Option ID = 8885]
2. 2 [Option ID = 8886]
3. 3 [Option ID = 8887]
4, 4 [Option ID = 8888]

Correct Answer ;-
a 1 [Option ID = 8885]

(E). (C).B). Dyonly (@D
®), D), (E), (Ayonly  (3)

[Question ID = 2222][Question Description = Q44_Kashmiri_SHAAN_3DEC_S1_5Shift1]
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Choose the correct answer from the options given below :
(B), (C). D), (Ayonly (2) (A), (B), (C), (Eyonly (1)
(E), D). (B). (A) only (4 (C), D). A). E)only  (3)

[Question ID = 2223][Question Description = Q45_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8889]

2. 2 [Option ID = 8890]

3. 3 [Option ID = 8891]

4. 4 [Option ID = 8892)

Correct Answer ;-

e 1 [Option ID = 8889]
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Choose the correct answer from the options given below :
(A), (C). (D), (E) only (2) (A, (B). (C), D)only (1)
(B), (C). D). (E) only (4) (B), (4). D), C)only (3)

[Question ID = 2224][Question Description = Q46_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8893]
2. 2 [Option ID = 8894]
3. 3 [Option ID = 8895]
4. 4 [Option ID = 8896]
Correct Answer ;-
e 1 [Option ID = 8893]
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Choose the correct answer from the options given below :
(B). (C). (D). (E) only (2) (A), B), (C), D)yonly (1)
(D). (C), (B). (A only (4 A). (C). D). E)only (3

[Question ID = 2225][Question Description = Q47_Kashmiri_SHAAN_3DEC_S1_5Shift1]
1. 1 [Option ID = 8897]
2. 2 [Option ID = 8898]
3. 3 [Option ID = 8899]
4. 4 [Option ID = 8900

Carrect Answer ;-
s 1 [Option ID = 8897]
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Choose the correct answer from the options given below :

(B), (C), (D), (E) only  (2) 4), 1), (C), Dyonly (1)
©). B). A). (Byonly (b (E), @). (B). A)only  (3)

[Question ID = 2226][Question Description = Q48_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8901]
2. 2 [Option ID = 8902]
3. 3 [Option ID = 8903]
4, 4 [Option ID = 8504]

Correct Answer ;-
e 1 [Option ID = 8901]
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Choose the correct answer from the options given below :
(A), (C). D). (Eyonly (2) (E), (D). (C), (B) only
A), (B). (C). D)only 4 (E), (A). (B). (D) only

[Question ID = 2227][Question Description = Q49_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Optien ID = 8905]

2. 2 [Option ID = 8906]
3. 3 [Optien ID = 8907]
4. 4 [Option ID = 8908

Correct Answer :-
e 1 [Option ID = 8905]
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Choose the correct answer from the options given below :

(E). D), (O), B) only (2) (A), B). (C), (D) only
(E). D), (B). Ay only (D (©), (A), (D). (E) only

[Question ID = 2228][Question Description = Q50_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8509

2. 2 [Option ID = 8510

3. 3 [Option ID = 8911]

4. 4 [Option ID = 8912]

Correct Answer ;-

e 1 [Option ID = 8909]
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Choose the correct answer from the options given below :

&), (), (C), (B)only (2) ®), (©). D), (Eyonly (1)
(©), (E). B). A only @) &), B®. (), Dyonly (3

[Question ID = 2229][Question Description = Q51_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8913]
2. 2 [Option ID = 8914]
3. 3 [Option ID = 8915]
4. 4 [Option ID = 8916)
Correct Answer ;-
e 1 [Option ID = 8913]
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Choose the correct answer from the options given below :

@A), B), (O). D) only (2) (A, (B), (C). ® only (1)
B), (C), (D). (E) only (4 (B), &), D). B only  (3)

[Question ID = 2230][Question Description = Q52_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Optien ID = 8917]
2. 2 [Option ID = 8918]
3. 3 [Option ID = 8919]
4, 4 [Option ID = 8920]

Correct Answer ;-
a 1 [Option ID = 8917]

A ®)
)8 (C)

oy ﬁ: ()
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u, s (B Your Personal Exams Guide
:

Choose the correct answer from the options given below :

(E), @), (©), A)only (2) (E), @), B), @ only (1)
(B), (C). D), (E) only (4) A), B).(C). D)only (3

[Question ID = 2231][Question Description = Q53_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8921]

2. 2 [Option ID = 8922]

3. 3 [Option ID = 8923]

4. 4 [Option ID = 8924]

Correct Answer :-

e 1 [Option ID = 8921]

AV T
ey E:,}[J ( C; tpjjji 4 ?JU L (A)

%jﬁti;h pe u'"aiﬂ B

L

Mbdﬂ;ﬁflj!fgﬂjxj{/k (C)

S5 b1 o
JL{U';J;{;H} ~ L ®

Choose the most appropriate answer from the options given below :

(A), (C). D), (E} only (2) &), B®. C), Monly (1)
(A), (B). D). (E) only (4) (E). D). (C). Byonly (3)

[Question ID = 2232][Question Description = Q54_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8925]

2. 2 [Option ID = 8926)

3. 3 [Optien ID = 8927]

4. 4 [Option ID = 8928]

Correct Answer :-

e 1 [Opticn ID = 8925]

4% ()
Ji o
2 ®

Choose the most appropriaie answer from the options given below :

A), B). (O). Dyonly (2 A), B), D). (E)only (1)

AT At ST AT 1. £ ™ I T A T 1 £¥
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[Question ID = 2233][Question Description = Q55_Kashmiri_SHAAN_3DEC_S51_Shift1]

1. 1 [Option ID = 8929]
2. 2 [Option ID = 8930]
3. 3 [Option ID = 8931]
4, 4 [Option ID = 8932]

Correct Answer ;-

a 1 [Option ID = 8929]

56)

L5

FRPVLINS P XY Sl

b e J}Zﬁ'ﬁ;d’(a}} @)

ks b 22 C;wjﬁ ».:.e)j B)

e Jgizéﬂ:)@@fﬁgﬁ* dfi";{? (©

-

63 b4 S @
e 5 F e ®

Choose the most appropriate answer from the options given below :

(E). (D), (C), (B) only (2)
B). (C), (D), (E) only (4

(4), 1), (C), M)y only (1)
&), B). (O). (E)only  (3)

[Question ID = 2234][Question Description = Q56_Kashmiri_SHAAN_3DEC_S51_Shift1]

1. 1 [Option ID = 8933]
2. 2 [Option ID = 8934]
3. 3 [Option ID = 8935]
4. 4 [Option ID = 8936]
Carrect Answer :-

e« 1 [Option ID = 8933]

prepp

Your Personal Exams Guide

Choose the most appropriate answer from the options given below :

(A), (C), (D), (E) only  (2)
(A). @), (D), (E) only (4)

S ST @
Sz ®
£ Y Jﬂu';( (C)

7 - &
6230 @
FplagC oy ®
(&), B), (C), @) only (1)
E), ), (), By only  (3)

[Question ID = 2235][Question Description = Q57_Kashmiri_SHAAN_3DEC_S1_Shift1]

1. 1 [Option ID = 8937]
| 2. 2 [Option ID = 8938]
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B3 [Dptjﬂn ID = 8939) Your Personal Exams Guide
4. 4 [Option ID = 8940]

Carrect Answer ;-
& 1 [Option ID = 8937]

AT
;L@/ A)
HIE*J’V' (B)
s (©

Jul o

J ' Ll ®
Choose the most appropriate answer from the options given below :
(A). (B). (C), (E)only (2) (E), (D). (C). (B) only D
(&), (B), (C), D) only (4) (D), (E), (A), Byonly  (3)
[Question ID = 2236][Question Description = Q58_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8941]
2. 2 [Option ID = 8942]

3, 3 [Option ID = 8943]
4, 4 [Option ID = 8944]

Et.l;.rect hnswe; :-
a 1 [Option ID = 8941]
59) . EE L, o .
LUz B el ol
UL Y

Jr ®

S (©
SRR @

uel ®

Choose the correct answer from the options given below :

(A4). B). (C), D) only (2) (A4). (©). D). Byonly (1)
A), B), (D). (E) only (4 (E). D), (C). Byonly (3)

[Question ID = 2237][Question Description = Q59_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8945]
2. 2 [Option ID = 8546
3. 3 [Option ID = 8547
4, 4 [Option ID = 8948)

Carrect Answer ;-
s 1 [Option ID = 8945]
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60)

Choose the most appropriate answer from the options given below :

D), (C), (B), (&) only (2) (A), (B). (C). (D) only
(B), (D). (E). (A)only (4) (A), (C), (D). (E) only

[Question ID = 2238][Question Description = Q60_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8949]

2. 2 [Option ID = 8950]

3. 3 [Option ID = 8951]

4. 4 [Option ID = 8952]

Correct Answer :-

e 1 [Option ID = 8949]

-
@)
g ®
-3
g ©
£
., )

ot ®

Choose the most appropriate answer from the options given below :
(A). B). (O), (E)only (2) A). B). (C), D only (1)
(E), M), (C). (B) only (4) (E). (D), (B). (A) only (3)

[Question ID = 2239][Question Description = Q61_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 8953]
2. 2 [Option ID = 8954]
3. 3 [Option ID = 8955]
4, 4 [Option ID = 8956]

Correct Answer ;-
« 1 [Option ID = 8953]

62)

2P gk ok

SoeFGdgm
Wb i 5N S @
s
J =2 J‘{ & ©

- Ut’}"{.}% sl D)

(B)

W » e -
LR
Sy L

ey
(3)
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Choose the most appropriate answer from the options given below :

(D), (C). (A), (E) only (2)
@A), B), (O). (B)only (4)

(A), (B), (C), (D) only
(E), (D). (C). (B) only

[Question ID = 2240][Question Description = Q62_Kashmiri_SHAAN_3DEC_S1_Shift1]

1. 1 [Option ID = 8957]
2. 2 [Option ID = 8958]
3. 3 [Option ID = 8959]
4. 4 [Option ID = 8360]
Carrect Answer :-

a 1 [Option ID = 8957]

(A)

®)

()

@)

(E)

(1)
(3)

prepp
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ALTT T bl il 2 )6

Lok

)E’L/"Lﬂ“fée
v
dL!Jﬂi;g

P

’L*’-Lf”;uj..u’/éﬁ

¢

Choose the most appropriate answer from the options given below :

(E), D). (B). (A) only (2)
(B), (C). (D). (B} only (4)

(A), (B, (©), (D) only
(A), (C), (D). (E) only

[Question ID = 2241][Question Description = Q63_Kashmiri_SHAAN_3DEC_S1_5Shift1]

1. 1 [Option ID = 8961]
2. 2 [Option ID = 8962]
3. 3 [Option ID = 8963]
4. 4 [Option ID = 8564]

(A)

(B)

©)

D)

(E)

(1
(3)

Carrect Answer ;-
& 1 [Option ID = 8%961]

.éi?,)l,?)/d;;»_/aﬂjgldﬁﬁ

bp o Ml

P Y
i barl

(A)
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Choose the most appropriate answer from the options given below :

A), B), (O). (B)only (2)
(A), (B), (D), (E) only (4

(A)! (B): (C): (D) Onl}’
(E), (D), (C), (B) only

[Question ID = 2242][Question Description = Q64_Kashmiri_SHAAN_3DEC_S1_5Shift1]

1. 1 [Option ID = 8965]
2. 2 [Option ID = 8966]
3, 3 [Option ID = 8967]

4, 4 [Option ID = 8968]

Correct Answer ;-
a 1 [Option ID = 8965]

D)

(©)

(D)

(E)

(1)
(3)

prepp
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UL*?JJ“J,J;"{THALJ@%, {4

Choose the most appropriate answer from the options given below :

(&), (C). (D). (E) only  (2)
(&), (B). D), (E) only (4)

(&), (B). (C). (D) only
(©), (D). (E), (B) only

[Question ID = 2243][Question Description = Q65_Kashmiri_SHAAN_3DEC_S1_Shift1]

1. 1 [Option ID = 8969
2. 2 [Option ID = 8970]
3. 3 [Option ID = 8971]

4. 4 [Option ID = 8972]

Correct Answer :-
e 1 [Option ID = 8969]

A)

B)

©

D)

(E)

(1)
(3)

Match List I with List IT :

List I

P
oL

(ID

(11D

List I

A

J

e P or e

(A)

(B)

(C)
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Choose the correct answer from the options given below :
(A)-0D, (B)-D. (O)-0AV), (D)-I)
(A)-TV), B)-ID). (C)-(IID, (D)}-1)
A)-@), B)-A1LD. (C)-dD). (D)-AV)
(A)-(1ID. (B)-(IV), (C)-(D), (D)-(dI)

[Question ID = 2244][Question Description = Q66_Kashmiri_SHAAN_3DEC_S51_Shift1]

1. 1 [Option ID = 8973]
2. 2 [Option ID = 8974]
3. 3 [Option ID = 8975]
4. 4 [Option ID = 8976]
Correct Answer :-

e 1 [Option ID = 8973]

(D)

(1)
(2)
(3)
(4)

prepp
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67) Match List I with List IT :

:_3:’ dU’g)Dub[

List IT List I

r—é‘fil J o eatlanin |
&

L @ o

/ \;r‘);; n—vép (III} L;J ,Lv

&S aw 24

Choose the correct answer from the options given below :
(A)-(D). (B)-(1L), (C)-(ID), (D)-(IV)
(A)-(IV), B)«(D), (C)-(II), (D)-(I1T)
(A)-(IID. (B)-IV), (C)-(I), (D)-(I)
(A)-ID), B)-III), (C)-IV). D)D)

[Question ID = 2245][Question Description = Q67_Kashmiri_SHAAN_3DEC_S1_5Shift1]

1. 1 [Option ID = 8977]
2. 2 [Option ID = 8978]
3. 3 [Option ID = 8979]
4. 4 [Option ID = 8980

Carrect Answer ;-
& 1 [Option ID = 8977]

(A)

(B)

©)

D)

(1)
2
(3)
@

Match List I with Last I1 :

Last I1 ListI

g oo g

K JJ
$ J

Sl am -

-

& ow Jui b

(A)

(B)

(©)

D)
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Choose the correct answer from the options given below :

(&)-1v), B)-(1D). (O)-dD), M)-@ 1)
A)-ID, B)-0. (O-AID, M)-AV) @)
&)-D. B)-AV). (O-AD. O)-AI) (3
A)-ID). B)-D, (O-AV). O)-0D) @D

[Question ID = 2246][Question Description = Q68_Kashmiri_SHAAN_3DEC_S1_Shift1]

1. 1 [Option ID = 8981]
2. 2 [Option ID = 8982]
3. 3 [Option ID = 8983]
4. 4 [Option ID = 8984
Correct Answer ;-
e 1 [Option ID = 8981]

J'"Vrj' ls r;. wJlled

LN

i A a
A

Match List T with List IT :

37 UL fll b

Tast I

o G sJF

@ (e
) s b 2544
@) sKem s,

Choose the correct answer from the options given below :

(A)-M. (B)-AD). (C)-AV), (D)-(1D)
(A)-(IV). (B)-(1D), (C)-D). (D)-(ID)
(A)-(IIL), (B)-(IV), (C)-aD), (D)-I)
(A)-(D), B)-D). (C)-(IID). (D)-aAV)

[Question ID = 2247 ][Question Description = Q69_Kashmiri_SHAAN_3DEC_S51_Shift1]

1. 1 [Option ID = 8985]
2. 2 [Option ID = 8986]
3. 3 [Option ID = 8987]
4, 4 [Option ID = 8983]

Correct Answer ;-
e 1 [Option ID = 8985]

(A)

B)

(©)

D)

ey
2)
(3)
@

prepp
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70) Mateh List I with List II :

SO YECRT) gb//(ﬁ""/?

List IT Last I
L #
e @ Hﬁfugcé;:: A)
Sl b Rl ®
Jr am [l u”‘( SR ©
g -’ ¢

43 ’}':/g IV) H._;«'M'JLHEJ‘ ;ﬁjﬁ” D)

Choose the correct answer from the options given below :
(A)-(IV), (B)-dD). (C)-M, D)-d) (1)
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(A)-ID, B)-D), (C)-AV), M)-1) (2 Your Personal Exams Guide
(A)-(II), B)-AV), (C)-AID, D)-A)  (3)
(A)-(D), (B)-dI). (C)-(1IL), (D)-AV) (4)

[Question ID = 2248][Question Description = Q70_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 8989]

2. 2 [Option ID = 8990]

3. 3 [Option ID = 8991]

4. 4 [Option ID = 8992]

Correct Answer ;-

e« 1 [Option ID = 898%]

71) Match List I with List IT :
: & Uj:"?"‘? ’ _:*3 iﬂub/
List II List I
. T oF * 7
MU’ w52 @ J;J/ @
2 P
;.M(;J:’;f (m S, ®

J o bk ©
.M/ av JW o

Choose the correct answer from the options given below :
(A)-AV). (B)-AD. (O)-UD. M-O (D
(A)-dD), (B)-ALD), (C)-D. M)-AV) (2
A)-O. B)-AV), (O-A). O)-dIl) (3)
A)-AD, B)-D, (O-AV), D)-AD) D

[Question ID = 2249][Question Description = Q71_Kashmiri_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 8993]
2. 2 [Option ID = 8994]
3. 3 [Option ID = 8995]
4. 4 [Option ID = 8996
Correct Answer :-

e 1 [Option ID = 8993]

72) Match List I with List IT :
:3: U}:“‘)ﬁ d:":;@.a 1} ;l))/

List I ListI
J KA"J /:" P D *L_’ (A)

JB(':T an Ji ®
Jvdy  am % (©

Fh g Ay UL @ I3 ®

Choose the correct answer from the options given below :
(A)-ALD. B)-D, (O-AV). O)-dly (1)
(A)-(1D, (B)-AID, (O-D. M)-0V)  (2)
(4)-0), @)-AV), (O)-0D), OD)-I)  (3)
(A)-AV), B)-aD, (O)-10D, M-I 4
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' [Question ID = 2250][Question Description = Q72_Kashmiri_SHAAN_3DEC_S1_Shift1] Your Personal Exams Guide
1. 1 [Option ID = 8997]
2. 2 [Option ID = 8998]
3. 3 [Option ID = 8999]
4, 4 [Option ID = 9000]

' Correct Answer ;-
a 1 [Option ID = 8997]

73)
Match List I with List 11 :
5 jwzﬁp?régfbﬂjﬁ g7 4l

Tast T Tast I
l» o blp @
b @ Sy ®
,:l:)/ (II) 3 E t  (©

oF

b awn wa, b ()

Choose the correct answer from the options given below :
(A)-(D, B)-@), (O)-AID, M)-AV) 1)
(A)-1ID. (B)-IV), (C)-aD, O)-M  (2)
(A)-AV). (B)-ALD). (C)-(D. D)) (3
(A)-T), B)-AD). (C)-AV), (D)-AI) (4

[Question ID = 2251][Question Description = Q73_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9001
2. 2 [Option ID = $002]
3. 3 [Option ID = 9003]
4. 4 [Optien ID = 9004]
Correct Answer :-

s 1 [Opticn ID = 9001]

74) Match List I with List II :
5 o Ll S
List IT Tast I
JI o Sili @
Bl @ =¥ B
J§3 (1D sl (©
- ok
Sk avy ;_,’J 1/’ D)

Choose the correct answer from the options given below :
(A)-@V), B)-AD. (O)-AD. D)-@y (D)
(A)-dI), (B)-(D, (C)-AV), D)-I)  (2)
(A)-ID, B)-dII), (O)-@. O)-AVY (3
(A)-0, B)-AV). (O-AD. D)1} @D
[Question ID = 2252][Question Description = Q74_Kashmiri_SHAAN_3DEC_S1_Shift1]

1. 1 [Option 1D = 9005]
| 2. 2 [Option ID = 9006]
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| 3. 3[Option D = 9007] Your Personal Exams Guide
4. 4 [Option ID = 9008]

Carrect Answer ;-
& 1 [Option ID = 9005]

75) Match List I with List IT :
S0 ot il df;z':;iﬂj ;I})//g’ e bl
List IT LastI

P I L B wow
JUS ) @ e ®
ué iy o7 L ©

sy @ Jbs @

Choose the correct answer from the options given below :
(A)-AV), B)-AD. (O)-(D. O)-AD) (1)
(A)-AD, B)-O), (O)-dM), D)-AV)  (2)
A)-@. B)-AI). (O)-AV). O)-A)  (3)
(A-(IID. (B)-IV), (C)-AD. D)0 4

[Question ID = 2253][Question Description = Q75_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 5009]

2. 2 [Option ID = 9010]

3. 3 [Option ID = 9011]

4. 4 [Option ID = 9012]

Correct Answer :-

e 1 [Option ID = 900%]

76) sl SN SN S
¢ @

b ®

L ©

O ©
Jest) @

Choose the correct answer from the options given below:

B). (O), D). A). (E) @) (E). (O). (B). A). D) (1)
E). D). A).B).(C) @ @.®.0.0.E O

[Question ID = 2254][Question Description = Q76_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9013]
2. 2 [Option ID = 5014]
3. 3 [Option ID = 9015]
4. 4 [Option ID = 9016]

: Carrect Answer ;-
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s 1 [Option ID = 9013) Your Personal Exams Guide

7 e Sl e G S F s S
£ o

Y  ®

Z ©

C)[:’J D)

b ®

Choose the correct answer from the options given below:
(A). (C), (B), (E), (D) (@) ©),®. A, D), EE @O
(A). (C). B), D). E) @) (D). (E), (B). (C), (A (3)

[Question ID = 2255][Question Description = Q77_Kashmiri_SHAAN_3DEC_S1_5Shift1]
1. 1 [Option ID = 9017]
2. 2 [Option ID = 9018]
3. 3 [Option ID = 9019]
4. 4 [Option ID = 9020]

Carrect Answer ;-
s 1 [Option ID = 5017]

e 5 o W i
:h..‘..-:-;"'/ oﬁ’l})d‘"bf[«’ (Q’jldj’j

Absurd Theatre (A)
Epic Theatre (B)
Tragedy (C)
Social Drama (D)

Historical Drama  (E)

Choose the correct answer from the options given below:
(C). (E), D). (A). (B) (2) (E), A).O.D),E D
(0. ). B). D). (E) B @A), (B). D). B).C) )

[Question ID = 2256][Question Description = Q78_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9021]

2. 2 [Option ID = 9022]

3. 3 [Option ID = 9023]

4, 4 [Option ID = 9024]

Correct Answer :-

e 1 [Option ID = 9021]

:ﬂ”ﬂffudi; c}/iz dﬂ}/ﬂ'ﬁjﬂ
|;r £ AN
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Vsl (©

% D)

JIJ;B/ (E)

Choose the correct answer from the options given below:
(E). (D), (A). (B). (C) 2 (C)., Q). (B). (D). (E) (1)
E),©C), B, A, D @ A, B). (O, D),E 3

[Question ID = 2257][Question Description = Q79_Kashmiri_SHAAN_3DEC_51_5Shift1]
1. 1 [Option ID = 9025]
2. 2 [Option ID = 9026)
3. 3 [Option ID = 9027)
4. 4 [Option ID = 9028]

Correct Answer -
* 1 [Option ID = 9025]

80)
. ﬂ"}*fuﬁib d;b),/dﬁb;/:’ uﬁf
p
d{: @)
e
g ®
7 ©

&
I
“U;Jg (E)
Choose the correct answer from the options given below:
(B). (C). D), (A). (E) (2) (C). D). (A). (B). (E) (D)
B), D). E). (C). A @ (E), D). (©), 4). B)  (3)

[Question ID = 2258][Question Description = QB0_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9029]
2. 2 [Option ID = 9030]
3. 3 [Option ID = 9031]
4, 4 [Option ID = 9032]

Correct Answer ;-
« 1 [Option ID = 902%]

:ﬂ"fdfff}uj/ J A1 C);'J)/d}"
._'a(&:»- )

-

81)

dﬁ’( ®)
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(E)

Choose the correct answer from the options given below:
A, (E).C). B). D) @ ©). B). (D). (E). &) D
B). A). (C). D). (E) @& D), (). E). B, A  (3)

[Question ID = 2259][Question Description = Q81_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9033
2. 2 [Option ID = 9034]
3. 3 [Option ID = 9035]

Carrect Answer ;-
& 1 [Option ID = 9033]

e Bt Pl

il @
ufsié'iuj"ﬁd)zlzﬁu&l ®
S o
SIfnE o

s ®

LIV AVE,

Choose the correct answer from the options given below:
E). D), &), B). (C) @2 (A, Q). B)L.(E). D) (Db
D). E). (C), V. B) @ (C), (A). (B). (D), (E) (3)

[Question ID = 2260][Question Description = Q82_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9037]
2. 2 [Option ID = 9038]
3. 3 [Option ID = 9039]
4, 4 [Option ID = 9040]

Correct Answer ;-
e 1 [Option ID = 9037]

prepp
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®). (O), D). (E). (4 &)
(©). @), A), @), (B) (9

Choose the correct answer from the options given below:
(&), (B). (). (D). (B)
(E), D). (C), (B). (A)

[Question ID = 2261][Question Description = Q83 _Kashmiri_SHAAN_3DEC_S51_Shift1]

1. 1 [Option ID = 9041]
2. 2 [Option ID = 9042]
3. 3 [Option ID = 9043]

4. 4 [Option ID = 9044]

| Correct Answer ;-
e 1 [Option ID = 9041]

(E)

ey
(3)

prepp

Your Personal Exams Guide

:uf-;ff JUi’ u}g‘ u)"L;";!"’: ‘,'J!CJHA{‘

E. (C). B). Q). D) @)
D), (E), (©), (B). (A) @D

S S Sk g
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Choose the correct answer from the options given below:
(A, (B). (D), (C), (E)
(B, (A). (O). (E), (D)

[Question ID = 2262][Question Description = Q84_Kashmiri_SHAAN_3DEC_S1_Shift1]

1. 1 [Option ID = 9045]
2. 2 [Option ID = 9046]
3. 3 [Option ID = 9047
4. 4 [Option ID = 9048]

. Carrect Answer ;-
& 1 [Option ID = 9045]

(A)

(B)

©

D)

(E)

(1)
(3)

- h—-;:;d.foii) J‘.’;IJ d‘"d"ﬁ k.fué"jl})/z_.ﬁ d“f’f ;J,‘!'L cc
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S
)3
G

ks b ’_,;.f[:? u{.ag,.!:( (A)
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D)

P Nt



WWW.prepp.in .repp

] o, rr W oy °
W e L4 Your Personal Exams Guide

Choose the correct answer from the options given below:
(A), (B). (C). E). @) (@) (E). B). (O, D). 4 @D
©), (E).B). Q). D @ (E). Q). B).D),C) 3
[Question ID = 2263][Question Description = Q85_Kashmiri_SHAAN_3DEC_S1_5Shift1]
1. 1 [Option ID = 9049]
2. 2 [Option ID = 9050]

3. 3 [Option ID = 5051]
4. 4 [Option ID = 9052)

Carrect Answer ;-
& 1 [Option ID = 5049]

86) Given below are two statements : one is labelled as Assertion (A) and the other 1s
labelled as Reason (R) :

5 - . o B
-‘G-.),, cj‘/ g ﬁ.ﬁi ~ 314-‘ :Jﬁ [ u’.'.é E b/é}! : (A) Assertion

- -
JAZ FF"  (R) Reason

In the light of the above Statements, choose the most appropriate answer from the
options given below :

Both (A) and (R) are correct and (R) 1s the correct explanation of (A) (1)
Both (A) and (R) are correct but (R) 1s not the correct explanation of (A) (2)
(A) 1s correct but (R) 1s not correct (3)

(A) 1s not correct but (R) 1s correct (4)

[Question ID = 2264][Question Description = Q86_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9053]
2. 2 [Option ID = 9054]
3. 3 [Option ID = 9055]
4. 4 [Option ID = 9056]

Carrect Answer ;-

1 [Option ID = 9053]

Given below are two statements : one 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

s K s i f_...u
. & divd \_ag}.:';: ,'L A (A) Assertion

Jﬁd}/-jjlf?"'{ﬁu;) Cf}k/)' : (R) Reason

In the light of the above Statements, choose the most appropriate answer from the

options given below :
Both (A) and (R) are correct and (R) is the correct explanation of (A) (1)
Both (A) and (R) are correct but (R) 1s not the correct explanation of (A) (2)
(A) 1s correct but (R) 1s not correct (3)

(A) 1s not correct but (R) is correct (4)

[Question ID = 2265][Question Description = Q87_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9057]
2. 2 [Option ID = 9058]

| 3, 3 [Option ID = $059]
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'Currect ﬂnswer
s 1 [Option ID = 5057]

Given below are two statements : one 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R) :

-Mﬁﬁ‘fdfﬁ,&:;%l J;ygyngﬁ;JLk:(A)Assertion

# s . b e
_C;&;,«_l;s,;lwli,atflmd/b : (B) Reason

In the light of the above Statements, choose the most appropriate answer from the

options given below :
Both (A) and (R) are true and (R) 1s the correct explanation of (A) (1)
Both (A) and (R) are true but (R) is not the correct explanation of (A) (2)
(A) 1s true but (R) 1= false (3)
(A) 1s false but (R) 1s true (4)

[Questinn ID = 2266][Question Description = Q88_Kashmiri_SHAAN_3DEC_S1_5hift1]
1 [Option ID = 9061]
2 [Gption ID = 9062]
[Gption ID = 9063]
]

1.
2.
T il

4, 4[0ptmn ID = 9064

Correct Answer :
e 1 [Option ID = 9061]

Given below are two statements :

-t

-dL/ d L,z: (> | ; Statement I

o ;" & -
,d[# ‘u:f.;ﬁ,%{w"" - Statement 1T

In the light of the above Statements, choose the most appropriate answer from the

options given below :
Both Statement I and Statement II are correct (1)
Both Statement I and Statement II are incorrect (2)
Statement I 1s correct but Statement II 1s incorrect (3)

Statement I 1s incorrect but Statement IT is correct 4)

[Question ID = 2267][Question Description = Q89_Kashmiri_SHAAN_3DEC_S1_5Shift1]
1 [Optien ID = 9065]

2. 2 [Option ID = 9066]

3. 3 [Option ID = 9067]

4, 4 [Option ID = 9{}58]

Cnrrect hnswer

* 1 [Option ID = 9065]

(Given below are two statements :
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»
'CPJ"?’(IUH});“J’IL// : Statement II

In the light of the above Statements, choose the most appropriate answer from the

options given below :
Both Statement I and Statement II are true (1)

Both Statement I and Statement II are false (2)
Statement I is true but Statement 1T is false (3)

Statement I is false but Statement II is true (4)

[Question ID = 2268][Question Description = Q90_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 9069]

2. 2 [Optien ID = 9070]

3. 3 [Option ID = 9071]

4, 4 [Option ID = 9072]

Correct Answer :-

e 1 [Option ID = 906%]

- Topic:- Kashmiri_SET1_B

1) S f B ] '
;.._'_.flf.dlybmgdwlwlég S

c)/ft r"b’ ufi,;ﬁi .g;lﬁ,g; A S 4 S i b Gl i
A .id , . . # e
Gt ET Az s gl bt g i 0le 3 T2 S

2 0B s12 SU L b S0 K bl 0V F i JE L b
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[Question ID = 2269][Question Description = Q91_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9073]
2. 2 [Option ID = 9074]

| 3. 3 [Option ID = 9075]
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Carrect Answer ;-
» 1 [Option ID = 8073]

-
“f. "“ 2 -
:i-'-—flf*d]!"i?ﬁhgdg-*’lwlég 1l d

e r'.."""; ufl,;ﬁi_. b ) Lo g S i b it Ui G iy
Gt E iyl b S iz ol T 3
2 0B 212 SU L b S0 K bl OV F i JB L
T bt 5 B Py g5 Kol i oS F i e o
J = PCF SN 760, JONEL W FY Fle oz ¢ g fose S5
:C,i-*’r..’ﬂL
Yl J0 LG gl LA S
F ,;L;,;,eﬂ{ —ulgs @ ﬁ“‘l'/ 25 ®

4 G
Mz E @ PP SY FC

[Question ID = 2270][Question Description = Q92_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 9077]
2. 2 [Option ID = 9078]
3. 3 [Option ID = 9079]
4, 4 [Option ID = 9{}8&]

Cnrrect hnswer
& 1 [Option ID = 9077]

o
- f - .
Hlfdlfi’ﬁ'édulyl,’g&j

ol r'..‘b"; ufi,;ﬁi_. b ) Lo g S i O it Ui Gl iy
Wt M ET A e o T iz e S
2 0B 212 SULhEn b S0 K bl OV F i JB L
Stz Loy sy ub‘f’;é 66, _édl.@y"ﬁfﬂf.,,ju__;—uﬁ S
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[Question ID = 2271][Question Description = Q93_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option ID = 9081]
2. 2 [Option ID = 9082]
3. 3 [Option ID = 9083]
4. 4 [Option ID = 5084)

Carrect Answer ;-
& 1 [Option ID = 9081]

.
- f o, .
.Hlfdl!’bﬁ'ﬁ,dwlyl,’g&j

& FUh L d ) g 5 b i S Gy
Kt ZT A F g e b e o iz 9l a3
2 0B 212 SULhEn b S0 K bl VG F i JB L
Sty Loy sy 0IJJ””;& 66 _édby")’fffufﬁi?w S
J e B bt it 4 é"ff"*f:‘ ¥ s Jﬂﬁufi)j

:Cf,!"‘“'“!' CﬂL

:JI’C)HL.(‘E“u&C?f&CLJ;LMé);igd@fm?

S i b5 et o

BT o NPT N o J O

Az ¢ Gl Sa i bt Zib g Ay (b ®
Midisal ek fr

[Question ID = 2272][Question Description = Q94_Kashmiri_SHAAN_3DEC_51_5Shift1]
1. 1 [Option ID = 9085]
2. 2 [Option ID = 9086]
3. 3 [Option ID = 9087]
4. 4 [Option ID = 9088]
Correct Answer ;-

e 1 [Option ID = 9085]
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[Question ID = 2273][Question Description = Q95_Kashmiri_SHAAN_3DEC_S1_Shift1]
1. 1 [Option 1D = 9089]
2. 2 [Option ID = 9090]
3. 3 [Option ID = 5091]
4. 4 [Option ID = 9092]

Currect Answer

# 1 [Option ID = 5089]

Topic:- Kashmiri_SET1_C
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NI LA LTI 1+ FE IR

-+

ﬂqf Y| -GJ/CJL@;‘Z. Jf.‘;/ﬁ/ >’ J':‘ A n.:..r;:‘:‘:& -y d/ﬁ Vrc,/;]ﬁ?,fbggk
ﬁjjb¢@éﬁ{;/(dhfglﬁ'iJJV;I;%L—)LJIJ,;&J,:; PEY, Lfé_. »*G/,sl:r':._. -
T 2.6 3L s o e g RS dugqﬁ,ﬂj;‘ AL
o+ o+ ; . "'f a 4o . i vy A ““

ST Iu:b/;id’;b;;,!,-‘:ﬁc}b,@;! dtpj,ﬁ;ﬁd g{xﬁgﬂif-"ﬂbdﬁ"

PN Y
wr?d&f?d},;’ 515 U

o+
ll o st : * 1)
CLU U/ Z V47

oF

7 s . £
J*I'Ll.f':(&-U'ﬁ’f:*ﬂi:z]'}:*m“f‘;ffbhﬂ (2)



WWW.prepp.In 'repp

g ) Your Personal Exams Guide
- ﬁ’ R p ¥ fﬁ
d'!!!&dﬂ#@ﬁ d/-::_zi/b,gﬂ (3)

Pl N dgiafbae

[Question ID = 2274][Question Description = Q96_Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 9093]
2. 2 [Option ID = 3094]
3. 3 [Option ID = 9095]
4, [Optmn D= 9{}95]

Correct Answer :
e 1 [Option ID = 9093]

-~
- F ' ¥ b
* - . ¥

+

;arT,:« LY -GJ/CJL@ZJC‘;/} b J:i:,%u:—rg:g “‘id/{'; L,rc/;]ﬁ?,f3¢ﬂ
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-uvgﬁ"ﬂﬁ/’?
mlﬁ,.el.ﬁgwlijﬁufﬁw,ﬁd;@i-‘:rf’d/ﬁd/'ﬁ
%J/J:%%%u_&?;@ @ %J/J,‘é}»%d‘l;ﬁ;;:; M

/QJJEij‘J/&“Q/; (4) /J*G*/uf/dﬂﬂﬂ/g 3)

[Question ID = 2275][Question Description = Q97 _Kashmiri_SHAAN_3DEC_S51_Shift1]
1. 1 [Option ID = 9097]
2. 2 [Option ID = 9098]
3. 3 [Optien ID = 909%]
4, 4 [Option ID = 91{}0]

Eorrect hnswer
e 1 [Option ID = 9097]
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JT,._{:__»E[ -@/C)lmz,::ﬁ}* Sl ul"l,.fgu:..faf‘% ""‘?'C)Jﬁ chx:ﬁié/&,!@
g/‘&ﬁqéﬁﬁ/{dbj;md:ljﬁl,i%du}ﬁ;; L‘?Z.r( lm.._
,,.-»l,!l;’.«',.ﬂ‘.’?/’d[:ellr tfr'?" Jy*u;r‘* JU/( '};u;-f:fgaﬂu‘ f-”:,/b

< £ 4 = a f o PR Y i 2
- A lu;b;;g d;b:::,L&A«:’L_»j-Uﬁ;!f@b@;,ﬁ,ﬁd*‘;ggwﬁguiy v 2t

-



WWW.prepp.in ?repp

_dufﬁ"jtuﬁfgvour Personal Exams Guide
:Mf;dﬂhg-dl!;éﬁé%&.gﬁﬁdfﬁﬁq
- 4;.* . ".r»/, :
fl;l;lrLJﬁJIVHrWdl;I;’j ()
DAY 630 S @
el g3 2o®

,.»T;:L(L"Jﬂ ﬂur‘tb/d?lfu” (@

[Question ID = 2276][Question Description = Q98_Kashmiri_SHAAN_3DEC_51_Shift1]
1. 1 [Option ID = 9101]
2. 2 [Option ID = 9102]
3. 3 [Option ID = 9103]
4, 4 [Optmn D= 91{}4]

Correct Answer :
e 1 [Option ID = 9101]
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[Question ID = 2277][Question Description = Q99_Kashmiri_SHAAN_3DEC_S1_5Shift1]
1. 1 [Option ID = 9105]
2. 2 [Option ID = 9106]
3. 3 [Option ID = 9107]
4. 4 [Option ID = 91{}8]

Currect Answer
* 1 [Option ID = 9105]
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[Question ID = 2278][Question Description = Q100_Kashmiri_SHAAN_3DEC_51_Shift1]
1. 1 [Optien ID = 9109]
2. 2 [Optien ID = 9110]
3. 3 [Optien ID = 9111]
4, 4 [Option ID = 9112]

Eorrect hnswer
e 1 [Option ID = 910%]
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Topic:- 03rd_Set7_A

1) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020, and Table-II shows the percentage of Sales in four
different categories 1n the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
e | Sales _ Earnir}g:-_;
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 T 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table — I1 : Categorv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the average (in ¥ billions) of the sales of ABC Corporation for the period 2013-20207?

(1)
(3)

5.5 2y 6.0

7.0 @ 80
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H9 & T e TALEL FUieE % 9 2013-2020 % o ons 79 i R o oTa i oo & aen
atferst I1 99 2020 Teshl % iawrd 6 =W 3Tor -7 S 3§ gurrd 2 | atersl § 128 T 377Fel % H719R
9T U3 1 I G

ATl — I : auar fasa g 3

§ IEED )
kS (z. faremm) | (3. fafemm)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 ) 700
2018 9 800
2019 8 700
2020 10 600

TTter=t — I1 : 2ofima, =9 2020 # &

| e i afeEa (%)
FEA 26%
Z1dt. 20%
T B 40%
¥4 15%

a9 2013-2020 =1 1= % o ol Y. satise i fht =1 sitga (5. fafemm 9) @ 27

(L 55 (2) 6.0
3 70 (4) 8.0

[Question ID = 2579][Question Description = Q01_GP_24N0OVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10313]
2. 2 [Option ID = 10314]
3. 3 [Option ID = 10315]
4, 4 [Option ID = 10316]

Correct Answer ;-
a 1 [Option ID = 10313]

2) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight vears from 2013-2020, and Table-Il shows the percentage of Sales in four
different categories 1n the vear 2020. Based on the data in the tables. answer the

guestions :
Table — I : Year—wise Sales and Earnings
. Sales Earnings
Year (in Rs. Billion) | (in Rs. Mallion)
2013 ] 500
2014 6 900
2015 3 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table — I1 : Category-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

For which yvear was the percentage (%) increase in earnings from the previous year highest?
(1) 2014 (2) 2015

(3) 2016 (4) 2017
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atferrt 11 39 2020 Teshl % iawrd & =W 3Tor—7em Ao § gorrd 2 | atfersl § 128 7T s77s] 3 H79R
UL U9 T S S

Al — I : auar fasea g 3

. IEED )
2 (z. fafem) | (3. fafemm)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

TTter=t — 11 ; 2efima, =9 2020 # &

Tt | e i affeaa (%)
FIA 26%
314 20%
T B 40%
34 15%

e o % T S < geET A i (%) T T o7

(1) 2014 (2) 2015

(3 2016 4) 2017

[Question ID = 2580][Question Description = Q02_GP_24NOY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10317]

2. 2 [Option ID = 10318]

3. 3 [Option ID = 10319]

4. 4 [Option ID = 10320]

Correct Answer ;-

e 1 [Option ID = 10317]

3) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020. and Table-II shows the percentage of Sales in four
different categories In the vear 2020, Based on the data in the tables, answer the

guestions :
Table — I : Year—wise Sales and Earmings
aap | . Sales _ Earnil}g::;
(in Rs. Bilhon) | (in Rs. AMillion)
2013 3 500
2014 6 900
2015 8 200
2016 1 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600

Table — I1 : Categorv-wise sales in the vear 2020

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What was the ratio of earnings to sales in 2015?
1  25:1 © 1:4

(3) 1:25 (4 1:40

fit &t ¢ ot vl A, Ftem F 2 20182020 % fm o w6 Fi G o o B i # @
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Al — I : auar fama g 3

< Tkt A
(z. farem) | (3. fafemm)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 ) 700
2018 9 800
2019 8 700
2020 10 600
Titernt — I : Zofima, 99 2020 ® ra
| e i afeEa (%)
HEA 26%
2.4, 20%
T % 40%
3 15%

a9 2015 § A au T = <= =1 1 @

1 25:1

3) 1:25

[Question ID = 2581][Question Description = Q03_GP_24NOV_51_SHAAN_Shift1]

1. 1 [Option ID = 10321]
2. 2 [Option ID = 10322]

3. 3 [Option ID = 10323]

4. 4 [Option ID = 10324]

Correct Answer :-

e 1 [Option ID = 10321]

@)
@

1y

1:40
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4) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight vears from 2013-2020, and Table-II shows the percentage of Sales in four
different categories 1n the vear 2020, Based on the data in the tables, answer the

guestions :
Table — I : Year—wise Sales and Earmings
Year | . Sales _ Earnir}gt}
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
2019 8 700
2020 10 600
Table — I1 : Categoryv-wise sales in the vear 2020
Category Percentage (%) of Sales
Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

Which of the following statements can be deduced from the data given in the Tables I and II?
(A) Sales of Smartphones in the vear 2020 exceeded total sales in the vear 2013.

(B)  Earnings for the vear in which earnings were highest were more than the sales for the

vear 1in which sales were lowest.

(C) If in the year 2020. the sales of Smartphones had been 10% less, and the sale of

s T
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than the sales of Computers.

Choose the correct answer from the options given below :

(1) (A only
(3) (A) and (C) only

& T arlere T E, FHEE % ¥ 2013-2020 % G o ast i fEh o o B i &
atferst 11 99 2020 Teshl % iawrd & =W 3Tor—37em Ao § gurrd 2 | aners § 28 T s7Fel 3 S8R

UL U9 1 S S,

(2) (A) and (B) only
(4) (C) only

Atlerl — I ; avar, fased tg H=

3 [EED] ]
i (z. fafem) | (3. fafemm)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 ) 700
2018 9 800
2019 8 700
2020 10 600

et — 11 : 2ofima, =9 2020 # &3

it | fehr i afowaa (%)
HIA 26%
214t 20%
T B 40%
¥4 15%

fr=fafiga 8 9 %81 o/a sy aifersr 1 ok 11 ° fau o atfeel % sar w Fmifia B sm e 27

(A) T 2020 T 3E TERE Fi oA, 2013 F T FE T orfien off |

B) T = ar 99 ¥ 55 31 Han BEh Tt 9 ° 53 ekt 9 it o1
(©) R at 2020 © wyrdw 6 skt 10 sfor =0 gt 2t it Foge H foeht 10 i afis g

a9 Soget I Rl 1 ge °§ WeeE 1 Rehl e g g

1)  Fa« (A)
(8)  haw (A) IR (C)

[Question ID = 2582][Question Description = Q04_GP_24NOV_51_SHAAN_Shift1]

1. 1 [Option ID = 10325)
2. 2 [Option ID = 10326]
3. 3 [Option ID = 10327]
4. 4 [Option ID = 10328]
Correct Answer ;-

e 1 [Option ID = 10325]

2) Fa (A) IR (B)
@) =as (C)

prepp
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3) The following Table-I shows the Sales and Earnings of ABC Corporation in the last
eight years from 2013-2020, and Table-II shows the percentage of Sales in four
different categories in the vear 2020, Based on the data in the tables, answer the

guestions :
Table — I : Year—wise Sales and Earmings
Year | . Sales _ Earnir}gt}
(in Rs. Billion) | (in Rs. Million)
2013 3 500
2014 6 900
2015 8 200
2016 7 400
2017 5 700
2018 9 800
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FAVE ) [a] U

2020 10 600
Table — I1 : Category-wise sales in the vear 2020

Your Personal Exams Guide

Category Percentage (%) of Sales

Computers 25%
TVs 20%
Smartphones 40%
Miscellaneous 15%

What is the sum total (in T millions) of the earnings of ABC Corporation for the period

2013-2019?
8} 4800 (2) 4200
3) 4000 4) 5000

5 & 7 oo T E. FieE F a9 2013-2020 % T oS 91 1 BEA o1 T F Ul & AW
atferst I1 99 2020 Teshl % iawrd & =1 3Tor—7em S § gurrdy 2 | atersl § 128 U 377Fe] % 379K
9T U9 T I ST,

AtferrT — I ; auar fasea ug 31y

ok IEE A
(z. farem) | (3. fafemm)
2013 3 500
2014 6 900
2015 8 200
2016 4 400
2017 ) 700
2018 9 800
2019 8 700
2020 10 600
Titersnt — 11 : Zofima, =9 2020 1 556
Tt | e i afeEa (%)
FA 26%
.4, 20%
T % 40%
3 15%

at 2013-2019 i srafa % forw wafi . whates 6 sm@ =1 T T (e, e 9) ®n 7

(1) 4800 @) 4200
(3) 4000 (4) 5000

[Question ID = 2583][Question Description = Q05_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10329]

2. 2 [Option ID = 10330]

3. 3 [Option ID = 10331]

4, 4 [Option ID = 10332]

Correct Answer ;-

e 1 [Option ID = 10329]

Topic:- 03rd_Set7_B

1) Which of the following level of teaching lays stress on critical sifting of ideas at the highest
cognitive level?

(1) Memaory level (2) Understanding level

(3) Reflective level (4) Autonomous development level
Fefeiga § & e OB W OwR Seuon §9ETES SR W e 6 e eens guhee W e
G RY
(1) T & W (2) ST B TR

(3 fameft oo == (4) wET TEHE R
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1. 1 [Option ID = 10333]
2. 2 [Option ID = 10334]
3, 3 [Option ID = 10335]
4, 4 [Option ID = 10336]

Correct Answer ;-
& 1 [Option ID = 10333)

Which of the following are the highest taxonomic categories in the cognitive, affective and
psychomotor domains of learning?

(A)  Analysis
(B) Evaluation
(C) Awareness

(D)  Characterization
(E) Naturalization

Choose the correct answer from the options given below :
1)  (A). (B) and (C) only (2) (B), (D) and (E) only
(3  (B).(C)and (D) only 4 (C). (D) and (E) only

Frefafiga 9 o =i & wres, wEEs iR TAvEes AT % &a § souan @i Afiat 27

(a) fawam
B) A
(C)  srfimgal
D)  witeEvE
(E) TEsrE

Hi=1 1 v feeret 9 @ w46 3R @ =me i
(1) =EcA). (B) 3R (C) (2) Faa (B), (D) ¥R (E)
() === (B), (C) (D) @) FF (0), (D) 3R (B)

[Question ID = 2585][Question Description = Q07_GP_24N0OV_S1_SHAAN_Shift1]
1. 1 [Optien ID = 10337]

2. 2 [Option ID = 10338]

3. 3 [Option ID = 10339]

4. 4 [Option ID = 10340]

Correct Answer ;-

e 1 [Option ID = 10337]

) Match List I with List II
List I List IT
Helping behavior of effective teaching Description

(A) Using student 1deas of contrbutions Warm and nurturing relationship with

learners

(B) Structuring Teacher statements fo encourage

@D
iy
students to elaborate on an answer
(C) Probing (ITIT) Teacher comments for the purpose of
organizing what is to come
(D) Teacher affect (IV) Taking a student's response and

repeating or applying it

Choose the correct answer from the options given below :
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(1) (4)-(1V}, (B)-(111), (U)-(1L), (D)-(1)
@ &)1, B)-AD, (C)-I1), (D)-(IV)
3  A-dDh. B)-, (C)-IV), (D)-(1I)
@ @I, B-av). (O)-0). (D)-ah

Your Personal Exams Guide

g=ii-I % w1 G-I =1 e it -
-1 11
Wﬁm%mﬁﬂaaﬂ ﬁa‘;\u{
(A) TFEenidar 5 areHl = TERl %1 STEm () TiRrTARalet & T e UF STeH 19y
®) i (ID) < =i foega ®6 % foy, IEi = weatza
F 7 0T F H
(C) <=g-9ga= (III) @wifed =i soafedg =+ 2897 & A9F
i fPufemEi
(D) TEATF U9 (IV) 3™ & YoIR H &d g7 Iuhl g 3R
ST
e fed U famredt ¥ |/ Wl Su @ 99T R

1y  A)-AV), (B)-(ID). (C)-(II), (D)-(I)
@2y  @-D. B-AD. (C-AID. (D)-AV)
3y (@)-aD. B)-D. (C)-(IV). (D)-(ID)

(4) (A)-(IID). (B)-(IV). (C)-(I). (D)-(ID)
[Question ID = 2586][Question Description = Q08_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10341]
2. 2 [Option ID = 10342)

3. 3 [Option ID = 10343]
4. 4 [Option ID = 10344]

Correct Answer :-
e 1 [Option ID = 10341]

Given below are two statements :

Statement I: In norm-referenced testing of students, test data helps us determine a

students place or rank.

Statement IT: In Criterion-referenced testing, the test data tells us about a student’s level

of proficiency.
In the light of the above statements. choose the correct answer from the options given below :
(1} Both Statement I and Statement II are true
(2} Both Statement I and Statement 1I are false
(3} Statement I 15 true but Statement II 15 false
(4) Statement I 15 false but Statement II 1s true
Fi=i g1 e fon g R
Fod () : Tt % e acida wfem |, wham ares Trmefl % wm a 2ofi = Reifa w6 4 el
AEPFA B 2 |

F2A (1D : Fren-gefif ol 4, wligu-sies o 3E 6 Py =+ w5 = s 3 |
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(1) #FEIARIIGTH a3 8
(2) ISR IIgAETIIE |

(8)  wYd Luew 2, il e[ 11 o/ged 2 |

{4) FT 1 70T B, ST weF 1L 2 |

[Question ID = 2587][Question Description = Q09_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10345]

2. 2 [Option ID = 10346]

3. 3 [Option ID = 10347]

4. 4 [Option ID = 10348]

Correct Answer ;-

e 1 [Option ID = 10345]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Modern and ICT based teaching support requires some technical
knowledge on the part of the teacher and learner.

Reasons (R) : Both teachers and learners have to be provided orientation in use of the
various support tools and techniques in an intelligent way.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are frue and (R) is the correct explanation of (A)

(2) Both (A) and (R) are frue but (R) is NOT the correct explanation of (A)
(3)  (A)is true but (R) is false

(4 (A) 1s false but (R) is true

T O o ;

= 31 e U e 2 W S (Assertion A) % W H foflgd @ @ 35U 3% FROT (Reason R) %
w9 F -

afimeE (A) syl it AR, smafa foem g # fou s o el % T W
FB qEIehl T I IETIRAT STiféd 2 |

FR0 (R) : finers T sTitrmrerdiett 31 i Sy oo SUS=on QYT 9FAR F TWEEE 2N ¥
TN A 2 AR T 0 |

SR FYF F T 4, i 9 T e @ ¥ eE ST SR 1 99 i

() (AR ®) 3 TF 3 3R R), (A) F 78 = 2
(2) (AR (R) I g9 £ SR (R), (A) FI TE SR T2 2 |
(3 (A v ?dlEa (R) swea 21

@ (A T 2 o R) T 2

[Question ID = 2588][Question Description = Q10_GP_24NOY_S1_SHAAN_Shift1]
| 1. 1 [Option ID = 10349]
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| 2. 2 [Option ID = 10350]
3. 3 [Option ID = 10351]
4. 4 [Option ID = 10352]

Correct Answer :-
e 1 [Option ID = 10349]

6) Which of the following is an example of qualitative research?

(1) Experimental research (2) Ex post facto research

(3) Descriptive survey research {(4) Grounded theory research

frfefaa ¥ @ == @1 e WY v SgEm A7

()  WETeE wWE @) FE g
(8)  foreomen® waL Ty (@) snaiies feaggiaues iy

[Question ID = 2589][Question Description = Q11_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10353]
2. 2 [Option ID = 10354]
3. 3 [Option ID = 10355]
4. 4 [Option ID = 10356]

Carrect Answer ;-
& 1 [Option ID = 10353]

7)  Identify from the list below the threats to internal validity of research.
(A)  Interaction of selection and independent variable (X)
(B)  Statistical regression
(C) Interaction of pretesting and X
(D)  Differential selection of subjects

(E)  Experimental mortality

Choose the correct answer from the options given below :
(1) {(B). (D) and (E) only (2) (A, (B} and (C) only
3y  (B).(C) and (D) only (4)  (C). (D) and (E) only

fre § 78 geli 7 & vgme Hifow 5 @t F enaier duaa & fog w5 @ g 37

(A) T Fi TG AR @A = (X)
B) wifeThm g

(C)  gEweer i eFahea 3 X

(D) fav = sl o

(E) vt v

Hi= 12T e famwedl 0 O g 39t B 9 iR
(1) %3 (B). (D) 3R (E) (2) e (A). (B) #R(C)
(3) =94 (B). (C) 3T (D) (4) Fa« (C). (D) 3R (E)

[Question ID = 2590][Question Description = Q12_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10357]
2. 2 [Option ID = 10358
3. 3 [Option ID = 10359]
4. 4 [Option ID = 10360]

Correct Answer :-
e 1 [Option ID = 10357]

Match List I with List IT

prepp

Your Personal Exams Guide
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Tast I Tast IT
Research Steps Characteristics
(A) Research problem definition (I) Appropriateness of techniques and
their application

(B) Formulation of research hypothesis (II) Development of a concepiual

framework which 1s 1n accord with
hypothesis of research

(C) Design of research (III}) Defining the variables to be related in
unambiguous terms
(D) Data Analysis (IV) Academic and social value of the

research guestion to be weighed

Choose the correct answer from the options given below :

(1)  A)-dm), B)-AV), (C)-@. D)-dD
@  A)-av). B-d. (C)-aD. D)-O
@ @O, ®-1AD, (O)-dID, (D)-IV)
@  A)-dn), B)-1), (C)-aV). (D)-I1D

g1-1% W et -I1 1 e i
-1 A1

(A) Iy FEEE H gt (I) T 1 STHFAA S 76 ST

(B) 9 WTRETAT T G (ID vF FFURONHF B o e = my
T % 3175 2

(C) iy =1 U=y (IIT) =R} =Rl Yoae FregEett 5 Tt = |

(D) T T (IV) ¥ T % SAFGHF IR A Ged i
AT |

Hi= &2 v e § 9 O SR H 99 Fiee

(1) (A)-ID), (B)-(IV), (C)-(D). (D)-(II)
(2) (A)-(IV). (B)-(IID). (C)-dD). (D)-M)
(3) (A-(D). (B)-(I). (C)-AII). (D)-(IV)
(4) (A)-(ID, (B)-(D), (C)-(IV). (D)-(I1I)
[Question ID = 2591][Question Description = Q13_GP_24NOV_S$1_SHAAN_Shift1]
1, 1 [Option ID = 10361]
2. 2 [Option ID = 10362
3. 3 [Optien ID = 10363]
4. 4 [Option ID = 10364
- c.;..-rect ﬂnswer R
e 1 [Option ID = 10361]

Given below are two statements :

Statement I: Scientific research 1s systematic, controlled, empirical and critical

mnvestigation of hypothetical propositions.

Statement IT: Population of research need not be defined in gualitative and quantitative

researches.

In the hight of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement Il are true
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(2) Both Statement I and Statement I are false Your Personal Exams Guide
(3) Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement II is true
=1 3t o R e F

F9 () : A MY TRehoa-reneh SEara B Sqaiedq, FEta, STasE it SATreTeas =9 2 |

FU (D) : TITRHF HR WS YT H AL F TN H T F F ST T g |

IUUE B F e °, A= 30 7w fimred 4 @ 98 I W = ik

(1) =w=RIskIIsHasd)
(2)  F IR I o/ B |
(3) Wy Id9ed B, @l &y I 319 2 |

(4)  F I3 2, AT 59 I T 2

[Question ID = 2592][Question Description = Q14_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10365]
2. 2 [Option ID = 10366]
3, 3 [Option ID = 10367]
4. 4 [Option ID = 10368)

Correct Answer ;-
» 1 [Option ID = 10365)

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A):  Actual settings are the direct source of data and the researcher is the key

instrument in qualitative research.

Reasons (R) : The purpose underlying qualitative researches 1s relatively more divected
at depiction of reality rather than armving at context free generahzations.

In the hght of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
()  (A)is true but (R) is false

(4)  (A)is false but (R) is true

= 3 A f3u g 2 ; uw ifimuA (Assertion A) % = # faflaa ® &t guw su% w0 (Reason R) &

"
9 H

TR (A) : At YRS AR % UeIa |ra 2 TR IeERal TOTeHh Ty =R g% ST # |
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HA (R) TONETE Y 1 IS UEHIH ATHRONER 9 UG o ST araterkdr = AT
w0 G A yoam =9 | e e 2

Y U & AT H, 9 €Y T feedt § U gey 30 I 1 9 I

D) ()R ®) I w2 s R), Q) F v Em )
() (A) 3R ®) T 7R E Wt ®), (A) Ft 7 =men w7 7

8) (AT 2, afeT (R) o/ 21

@) (A 35 2 ofd R) T3 2

[Question ID = 2593][Question Description = Q15_GP_24N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 10369]

2. 2 [Option ID = 10370]

3. 3 [Option ID = 10371]

4, 4 [Option ID = 10372]

Correct Answer :-

s 1 [Option ID = 10369]

11)
In describing elements of communication, a person or an event which provides verbal or
non-verbal use to which someone can respond 1s known as.

(1) Message (2) Sowrce
(3) Channel (4) Communication context

AUSOT % Al % T4 H, UF Sfad 19l TH-HA g GiEE AT STITaE Thd Iueied HU o ™
frdt = g wfafsear <t =i gl 2, 1 e ST -

=

1 === (2) =@
(3) A () (4) TIIM T

[Question ID = 2594][Question Description = Q16_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10373)
2. 2 [Option ID = 10374]
3. 3 [Option ID = 10375]
4. 4 [Option ID = 10376
Correct Answer ;-

e 1 [Option ID = 10373]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Agenda buwlding is a collective communication process in which media,
govermment and the citizenry reciprocally influence one another.

Reasons (R) : Agenda building presumes cognitive effects and inactive audience with less
socletal-level effects,

In the hght of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 13 NOT the correct explanation of (A)
(3) (A) is true but (R) 1s false

(4) (A) is false but (R) i1s true

T 21 e Ty T 2w AN (Assertion A) % BT ¥ fafaa 2 a1 @0 SuE FRW (Reason R) %
=G

STTHTA (A) : FH T T T AnteE quee H-Te 2 S il 'R S TR TWER
U GER Bl U e E |
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FT (R) ; g ATHTTH YHTE T ST A B B WETR T dle 5 2 | Your Personal Exams Guide

IYUTH YA H AT H, 4 1Y U femredl 0 ¥ "El 39 B AT Rl

D) Q) IR ®) T T E R (R). (A) Fi T e |

@ (A R)TE T E S (R). (A) i @ e T 2
(3) (M) " 2 W (R) ¥70A 3 |

4 (A) 79 & F (R) 9 2

[Question ID = 2595][Question Description = Q17_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10377]
2. 2 [Option ID = 10378]
3. 3 [Option ID = 10379]
4. 4 [Option ID = 10380
Correct Answer ;-

e 1 [Option ID = 10377]

13 5
) (iven below are two statements ;

Statement I: The art of Mass Communication is much more simple than of face to face

communication or any type of communication.

Statement II : Each of us uses 35 (Sight, Sound and Smell) and 2T (Touch and Taste) when

we communicate with others.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

= o wom e 2

Fo () :  EEER i e TETE TN o o el w3 wie i oren arftres w 2

FYT (D) : =T 29 780 & WY TG99 0 2 2 © 9 35 (32, @ it ) gw 2T (S99 o =)
T AT F@ S |

IO FIH H ofes 8, Hi9 e o fment § g @8 o = it

(1) @ IR A wdi §

@ o I3k I gt 7w 2 |

(3) =W I 2, =i w0 I 7o 2 |

(4 FWITadz, aEsE T2

[Question ID = 2596][Question Description = Q18_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10381]
| 2. 2 [Option ID = 10382]
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4. 4 [Option ID = 10384]

Carrect Answer ;-
& 1 [Option ID = 10381]

Feedback reflects the reactions of the audience when :

(A)  One knows the effects of communication.
(B) One knows the quality of content of the message.
(C) One knows the future prospect of the object of communication.

(D) One knows the financial 1mplications of the communication.

Choose the most appropriate answer from the options given below :

DL A, B). D) only 2 (B). (D). (C)only
&) (A (©). D) only @ @, (B). (C)only

gAttaer (Fieds) s i wiafsean =i quiar 2 s

(A)  HIT HUWYT % T B AT 2

(B) s WG * forreg ORI F A 2

(C) = WU i g 5 Wiaea il GHESA H T B

(D) s T % F Fiaa T 2 |

Fr fom T formedl § O wER ST SO W WA IO -
1)  F Q). (B). D) 2) Faa (B), (D). (C)
(3) = (A). (). (D) @) Faa (A). (B). (C)

[Question ID = 2597][Question Description = Q19_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10385]

2. 2 [Option ID = 10386]

3. 3 [Option ID = 10387]

4. 4 [Option ID = 10388]

Carrect Answer :-

e 1 [Option ID = 10385]

The power which comes through connectedness of one's words matching one’s feelings, body
and facial expression in communication process 1s known as :

(1) Conformity (2) Congruence
(3) Collaboration {(4) Control

9z widd S AYTor <l Uik A TRE =k 1sal ST IHehl WremnEtl o e, s i wEvimeT % 99eE
fhrerdht 1, 38 +ed & -

(1)  wETEgd (2) THETaT
(8)  =EAifEr (4)

[Question ID = 2598][Question Description = Q20_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10389]
2. 2 [Option ID = 10390]
3. 3 [Option ID = 10391]
4. 4 [Option ID = 10392)

Carrect Answer ;-
* 1 [Option ID = 10389]

Tha namar nf a mahile nhana crhavoace hie mictnmar PR meowra than tha enet mamea TR a
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customer paid 8,000/- for a mobile phone, then what was the cost price of the mobile?
(1)  Rs. 5600 (2) Rs. 6000
(3)  Rs. 6400 (4) Rs. 7000

RIS FH H @ UEE ¥ AW IoT H 256% AfUE a1 2 | PR WEw o meEd B % o 8,000/-
¥, 1 A T, aF s # A e 4 e

(1)  5600/- Tq0 (2) 6000/ =T
(3) 6400/- ¥1T (4) 7000/-Tq0

[Question ID = 2599][Question Description = Q21_GP_24NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 10393]
2. 2 [Option ID = 10394]
3. 3 [Option ID = 10395]
4, 4 [Option ID = 10396)

Carrect Answer ;-
& 1 [Option ID = 10393]

) In the letter series
What 1s the next letter?
(D L 2y Z
3 P 4 X

B.H,R.F, .... ...... 5 FH | 377 &R HEA-91 2P0 ?

1 L @ Z
@ P @ X

[Question ID = 2600][Question Description = Q22_GP_24N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 10397]
2. 2 [Option ID = 10398]
3. 3 [Option ID = 10399]
4, 4 [Option ID = 10400]

Carrect Answer ;-
® 1 [Option ID = 10397]

Given the relationship between variables Y and X : Y = XZ; if X changes by 6%, What is the
percentage change in Y?

1) ~36% 2 ~12%
3 ~8% @ ~6%

Y Xwdimmrday Y=X2% =77 2| 370t X o 6% 1 qfiga &1, ot Y 7 wlemm (%) afaaT =0

Y
(1 ~36% (2) ~12%
(3) ~ 8% (4 ~6%

[Question ID = 2601][Question Description = Q23_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10401]

2. 2 [Option ID = 10402]

3. 3 [Option ID = 10403]

4. 4 [Option ID = 10404]

Correct Answer ;-

e 1 [Option ID = 10401]

19) A man travels in a car from point A to point B and covers a distance of 120 km. During the

first 40 km, the speed of his car 1s 50 knvhr and for the rest of journey the speed of his car 1s
60 km/hr, What is the average speed of his car from point A to point B?

(1) 556 km/hr (Zy 54.25 km/hr
(3) 56.25 km/hr (4) 58.25 kw/hr

o offaa fig A @ fig B % sfw 120 feeidfiet i gt 1 @ 73 = 21 961 vee 40 Feerdier % dE
IEehl FR Y T 50 ferardier wid @e oft ofit @ 2 % forw 60 Freiidiex wfeezr, @t e AQ fr B o=
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(1) 55 for.H. /821 (2) 54.25 im0
(3) 56.25 f . dt. /e (4) 58.25 .41 fu=

[Question ID = 2602][Question Description = Q24_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10405]

2. 2 [Option ID = 10406]

3. 3 [Option ID = 10407]

4. 4 [Option ID = 10408]

Correct Answer ;-

e 1 [Option ID = 10405]

20) In the series
1.8.6. 30, 0000
What is the next term?
(D 12 2 15
3) 18 @ 20
L 3.6 10 vos % F T TS o7% 2FT
1) 12 (2) 156
3 18 4y 20

[Question ID = 2603][Question Description = Q25_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10409]
2. 2 [Option ID = 10410]
3. 3 [Option ID = 10411]
4. 4 [Option ID = 10412]

Carrect Answer ;-
& 1 [Option ID = 10409]

Which of the following options are true regarding inference with reference to classical Indian
system of logic?

(A) It 1s deductive
(B) It 1s inductive
(C) It has to be formally valid

(D) It has to be matenally true

Choose the correct answer from the options given below :
1) (A). (B) and (D) only (2) (A), (B) and (C) only
3) (A (C)and (D) only (4) (A), (B), (C) and (D) only

T I T AR A g $ AR SHEE 5 gy 1 Feferiad faehed § d i ueT 27
Q) == Freers 2|

B) T AP 2 |

(C) 38 Sfig=fls ¥ & Ay 21 9IRY |

(D) T TERE T T A BT TR |

f fiu e foem © o TE SO% 1 99 i

O == Q). B) 7R (D) @ Fa (A), B) 3R (O)

(8 T4 (A). (C) ¥ (D) @ (@A), (B). (C) 3T (D)
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1. 1 [Option ID = 10413]
2. 2 [Option ID = 10414]
3, 3 [Option ID = 10415]
4, 4 [Option ID = 10416]

Correct Answer ;-
e« 1 [Option ID = 10413]

The collection of all the objects to which a term may correctly be applied is called :
(A) The intension of that term

(B) Connotation of that term

(C) The extension of that term

(D)  Denotation of that term

Choose the correct answer from the options given below :
(D (A)and (B) only (2) (B)and (C) only
(3)  (A)and (D) only (4) (C) and (D) only

= AT gl w1 v T fom v W @ WA = § T B o 99 2, w8

(A) 3T g F

B) 3 g w A=Y
(C) 39 92 I Ty
(D) 39 92 1 grATd

(1) ad (A) 3R (B) ) FaA (B) 2R (C)
(8) I (A) IR (D) (4 I (C) 3R (D)

[Question ID = 2605][Question Description = Q27_GP_24NOV_S$1_SHAAN_Shift1]
1. 1 [Option ID = 10417]
2. 2 [Option ID = 10418)
3. 3 [Option ID = 10419)
4. 4 [Option ID = 10420

Carrect Answer ;-
& 1 [Option ID = 10417]

“The Daily News carried an article this morning about some local teenagers who were
arrested on charges of drug possession. Teenagers these days are nothing but a bunch of
junkies”.

Which fallacy 1s committed in the above statement?

(1) Red Herring

(2) birawman

(3 Argument against the person (ad hominem)

(4) Hasty Generalization

“3f TR § oS guR U o oEn el s i PRl i wew Feie 12t A tEd ot o
firwar fn 70 o1 | sTeea % PR oit Fo = afew 33 % W 31 swlwa wum 4 F9 @ ey 27

Q) iz Efm
2 W

(3 = = favg o (g aifew)
(4 ity g
[Question ID = 2606][Question Description = Q28_GP_24NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 10421]
| 2. 2 [Option ID = 10422]
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| 3. 3 [Option ID = 10423]
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4. 4 [Option ID = 10424]

Carrect Answer ;-
& 1 [Option ID = 10421]

Given below are two statements : One 1s labelled as Assertion (A) and the other i1s labelled as
Reason (R) :

Assertion (A): The Nalyayikas did not give separate treatment of the inductive methods,
as the western logicians have done.

Reasons (R) : According to Nyava school universal propostions are obtained from

perception itself by one of the forms of extra-ordinary perception.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

4 (A) 1is false but (R) is true

= 5w fou e 2 v aIfieuE (Assertion A) % T W fafiga ¢ AT WU 3@ FRU (Reason R) %

_‘Eq"}

ST (A) Tl 4 STFTHATCHE JUTSR i YR WG] Tel 4 3 S B uewted O wnter J
T 3 |

+1007 (R) : = WET + PR g gfagiceat s goredieon § 4 o gerefleor g o
7o i ST 2

I HIE F TS 8, 9 4 1 e 8 8 w3 I = it

1) (A W R) A T § 3 (R), (A) F 7 =7 2|

@ (A ¥R ®) A T E B ®), (A) F T =men T8 2
@ Q)T 2R R) I )

@ Q) o 2w R) w2

[Question ID = 2607][Question Description = Q29_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10425]
2. 2 [Option ID = 10426]
3. 3 [Option ID = 10427]
4. 4 [Option ID = 10428)

Correct Answer ;-

e 1 [Option ID = 10425]

Given below are two statements :

Statement I: Sesavata is the inference of what remains (sesa) by ehmination of the
irrelevant.

Statement II: Sesavata inference corresponds to the method of residues in western
inductive logic.
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In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I 1s false but Statement II 1s true

TR TR
o ([): e, AT h faedioT d S s 2 U SFEE 2 |
o (ID):  9ve M TI9e SATTHATCH qhaie o ST =Rt qoretl & el @ 2 |

IR FYF T o |, 19 20 7o e 4 O vl s W = it
(1) =FEIafRIIa o ? |

(2  F IR I o5 & |

(8) =9 19 2, A ®9F I s 2|

(4)  Fu I 578 7, aifeT wu I AT 2 |

[Question ID = 2608][Question Description = Q30_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10429
2. 2 [Option ID = 10430]
3. 3 [Option ID = 10431]
4. 4 [Option ID = 10432
Correct Answer ;-

& 1 [Option ID = 10429]

26
) When a computer 1s switched on, the BIOS 1is loaded from :
(1) Hard Disk (2) RAM
(3) ROM (4) CD-ROM

1 forell e 1 e i P e 2 9 BIOS Frefirfiam # & Pt <ive Fve s 27

1 =s e 2 W
(3 Tm (4) H=E-Tm

[Question ID = 2609][Question Description = Q31_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10433]
2. 2 [Option ID = 10434]
3. 3 [Option ID = 10435]
4. 4 [Option ID = 10436]

Correct Answer :-
« 1 [Option ID = 10433]

smallest capacity.

(A) 100 GBytes

(B) 10 000 000 000 Bytes

(C) 1 TBytes

(D) 1000 000 KBytes

Identify the correct order of the following computer storage capacities ranked from largest to
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Choose the correct answer from the options given below :
@ ©).@A). D). B @ (©) @A) B). D)

3 (A)©).D).® @ (A).C).®B). D
TrefoTiiga FeA RS Anael F ToE AT W e HE GEal = Wel BE A fafad it |
(A 100 s
®) 10000 000 000 =752
€ 1xame

(D 1000 000 et =52

3 fau o fwem § o TE SO% 1 99 it

1) (€. A). D), B 2 ©). @A), B). D)
@ A ©O). D), 6B @ @A). O, ®). D)

[Question ID = 2610][Question Description = Q32_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10437]

2. 2 [Option ID = 10438]

3. 3 [Option ID = 10439]

4. 4 [Option 1D = 10440]

Carrect Answer :-

e 1 [Option ID = 10437]

Given below are two statements:

Statement I: Search Engines are websites that help a user to search for information on

WWW.

Statement II : For any search term, Search Engines provide the exact same results to all

the users.

In the light of the above statements, choose the corrrect answer from the options given

below:
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II 1s false

(4) Statement I 1s false but Statement II 1s true

Hi=t & w9 Ry e #
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Fo (ID) : el ==t 29 o foru, @t S oot weimastt = ferosper wnaa afom 2di 2
IWITH HYF B ATA T, A= 40 T8 faemedi O A Rl Iat o 9E ik

(1) FWRISRIIFM OIS )
()  F9F I AR I 241 ome3 & |
(3) w1 aA 2, T 5y 11 35T 2 |

(4) U I 3AEcA 7, A o I 5ed 2|

[Question ID = 2611][Question Description = Q33_GP_24NOVY_S1_SHAAN_Shift1]
1. 1 [Option ID = 10441]
2. 2 [Option ID = 10442]
3. 3 [Option ID = 10443]
4. 4 [Option ID = 10444]

 Correct Answer :-

A iieoviiused SN, A
With respect to computers, which of the following are random access storage devices?

(A) Magnetic Tape

(B) Hard Disk

(C)  Pen Drive

(D) CDROM

Choose the correct answer from the options given below :
(1)  (A), (B) and (C) only 2 (A).(C), and (D) only
(3  (B). (C)and (D) only @ (A). (B) and (D) only
FOIR % wea § Frefafad § @ B-3 Teu o wie e 37
&) AT
®) =E =
€y wgrEA

D) # F e s

= fu o faered] § @ T ST 1 9 i

1y FoeT (AY (P 23T (0N (N ST (AN (0D ATT TN
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[Question ID = 2612][Question Description = Q34_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10445]
2. 2 [Option ID = 10446
3. 3 [Option ID = 10447

4. 4 [Option ID = 10448

Correct Answer :-

& 1 [Option ID = 10445]

Match List I with List II

A4)

B

©

D)

ListI
Computer Terms
Magnetic Tape
Memory Card

Hard Disk

DVD

List IT
Description

Used in digital cameras photo printers
and cell phones

Uses laser beam technology to read or
write data

@D
(1D
(III) Used for data archival purposes but
must be accessed sequentially

Iv)

A set of metal disks mounted on a
spindle

Choose the correct answer from the options given below :

ey
(2)
(3)
(4

(A)-a10). B)-(D. (C)-AV), (D)-IT)
(A)-(IV). (B)-(D. (C)-I1D), (D)-(AD
(A)-(1L). B)-aV), (O)-O. O)-1D)
(A)-(ID), B)-(1ID), (C)-@), M)-(IV)

g1 % mo g1 1 firerm Fifse

D) e 39

I3 o3 o fmen 9 o o s W T Hifw

1)  @-dID. B-1@). (O-1V). D)-AD
@  &)-@vV), ®-O, (O)-1ID). (D)-AD
3  @-dID. B)-AV). (CO-D. (D)-AD
@  A-dn, B-I, (O)-@, D)-aAV)

T 1L
oo
O fesfiea Swmr, w9 Bt o o9 w9 4
S B 2 |
D) T W TG A OHEH F oW TR a@m
SETATS AN FAT 2 |
(1) S@1 TFHRae WeE g T B B 9
T SETTH ®7 U FAEER twEE e s
=Trae |
(IV) Toisa w @ srars Sent =1 ag==m

[Question ID = 2613][Question Description = Q35_GP_24N0V_S51_SHAAN_Shift1]
1. 1 [Option ID = 10449]
2. 2 [Option ID = 10450]
3. 3 [Option ID = 10451]
4, 4 [Option ID = 10452]

Correct Answer ;-
e 1 [Option ID = 1044%]
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What will be the resultant of two noise levels of 81 dB and 90 dB generated by two
independent sources?

(1) ~96dB
8 ~98dB

(2) ~91dB
@ ~1184dB

2 wada @l ¥ g 81 Stfieer 3t 90 Sdiew % i wad =1 aform F4 2m?

(1) ~96
8 ~08

dB
dB

2 ~91dB
4 ~118dB

[Question ID = 2614][Question Description = Q36_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10453]
2. 2 [Option ID = 10454]
3. 3 [Option ID = 10455]
4. 4 [Option ID = 10456]

Correct Answer :

e 1 [Option ID = 10453]

32)  Match List I with List II
List I List IT
(A) Kyoto Protocol (I) Clean and Affordable Energy
(B) Montreal Protocol (II) Clean Development Mechanism
(C) Paris Agreement (III) Nationally Determined Contribution
(D) International Solar Alliance (IV) Phase out of chlorinated compounds
Choose the correct answer from the options given below :
(D (A)-aD. (B)-aV), (O)-AID, M)-D)
2y  A-@, -0, (C)-1AV), D)-ID
3  @-aD. (B)-AV). (O)-D). (D)-AID
(4) (A)-(IID. B)-(IV), (C)-(D). (D)-IAD
-1 % Ty -1 = e hif
-1 Tel-11
(A) TR TR O =3 IR T T
(B) AR S an wr=s fwmm @
(C) ufw mmst dID udm =u 9 &fTEs Tmem
D) g 9k g AV) Ferigea =il 6t =noeg wafe

=i &3 1 et 7 @ Ul 3o = == ity

1) @-aAD. B)-IV), (G-, M)-O
@  @-O, @)-dID). (O)-I1V), (D)-AD
3  W-In. B-IV), O)-O), (D)-(I1ID)
@  @-aID. B)-IV). (O)-@). (D)-AD

[Question ID = 2615][Question Description = Q37_GP_24N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 10457]
2. 2 [Option ID = 10458]
3. 3 [Option ID = 10459]
4, 4 [Option ID = 10460]

Correct Answer :

s 1 [Option ID = 10457]

Chmtormamnd T

Given below are two statements:

QAalan fladk wnlatr anllastrun acsasnfialler mawlsr A tha soanainla aFfF  MDuaaan
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House Effect.

Statement II : Black absorber plat radiates infrared radiations.

In the light of the above statements, choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false
(3) Statement I 15 true but Statement II 1s false

(4) Statement I is false but Statement II 1s true
= o ﬁQ T E

F (D) :  OR guae e TuTEE YHEeT u9E F U W a5 e i 7

FYT (II) : s TSR wie O TpNE [ e 2|

SHUH FUA 7R AT A, A fou u fameat 9 9wl s o weE S

1) =EIsRIIeST o3 |
(2) w9 IR ILSE Tad & |
(8)  wud I oca 2, wifeht e[ II 3twer 2|

(4y  ®E I w1mea 2, st weE I aea 21

[Question ID = 2616][Question Description = Q38_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10461]

2. 2 [Option ID = 10462

3. 3 [Option ID = 10463]

4. 4 [Option ID = 10464

Correct Answer ;-

e 1 [Option ID = 10461]

Identify the correct sequence in decreasing order of percentage of total world’s water in the
following locations :

(A) Atmosphere

(B) Rivers and streams
(C) Ground water

(D} Lakes (Fresh water)

(E) Ice caps and Glaciers

Choose the correct answer from the options given below :

1) (B ©).3B), D). A @ (E) B).©C). D). &)
3y (E), (D), (C), (B), (A) (4) (E), (O), (D), (A), (B)
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fava & $a S Uiawra I Feifea T = g2 O omEtE e | ey five

@)  amEsH
(B) A iR JagEd
(C) =

(D)  sfe (arsm ow)
® fomid oR e

= fau 7o foerel § © U9 SOK F1 99 it

@ E).©O.B. D.A) @ (E). (B). (C), D), (A)
@ ®.OD.O,. 6.4 @ E).C), D). AW.®

[Question ID = 2617][Question Description = Q39_GP_24N0OV_S51_SHAAN_Shift1]
1. 1 [Option ID = 10465]
2. 2 [Option ID = 10466]
3. 3 [Option ID = 10467]
4. 4 [Option ID = 10468)

Carrect Answer ;-
# 1 [Option ID = 10465)

By the year 2030. Sustainable Development Goal 7 aims at enhancing the global rate of
improvement in energy efficiency by a factor of

(1) Two (2) Three
(3) Four (4) Five

T4 2030 T, T oFm@ TeA-7 F1 LA HoAig@dl i dfgah & 1 e o Hi iy FE Y7

1 @) =
(3 =R (4

[Question ID = 2618][Question Description = Q40_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10469]
2. 2 [Option ID = 10470]
3. 3 [Option ID = 10471]
4. 4 [Option ID = 10472]

| Correct Answer ;-
e 1 [Option ID = 1046%]
36) i ; ey :
According to NEP-20 the primary activities of the NRF will be to
(A)  Fund competitive peer reviewed grant proposals of all types across all disciplines.

(B) Open new institutions of research and innovation.

(C)  Act as a liason between researchers and relevant branches of government as well as

industry.

(D)  Include research in curriculum at school level.

Choose the most appropriate answer from the options given below :
(1)  (A) and (B) only (2) (A)and (C) only

(3)  (B)and (C) only 4) (C) and (D) only
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() UiEF "wafE gr afia SopE-Fie % yEaE W W vl VR F O ¥ veg B, feE
TR TS F |
(B) =Y S TEIER % T GEIE ) TG T |
(C)  humaiadl 3t gag Tl wa ot S=mt % 9 H3) % =9 § Fd F0 |

(D)  TH T G UIEAEHE A I A e |

= fou U formenl @ W TE0 ST SR A T iR
(1) et (A) 3 (B) (@) s (A) 3R (C)

(3) wEdA (B) 3 (C) @ Fa (C) 3 (D)

[Question ID = 2619][Question Description = Q41_GP_24NOV_S$1_SHAAN_Shift1]
1. 1 [Option ID = 10473
2. 2 [Option ID = 10474]
3. 3 [Option ID = 10475]
4. 4 [Option ID = 10476
Correct Answer ;-

e 1 [Option ID = 10473]

Identify from the following those values which are called "Sattvika Values”
(A) Compassion

(B) Jealousy

(C) Respect

(D} Falsehood

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only (2) (B) and (C) only

(3) (C) and (D) only (4) (A) and (C) only

Frafatea @ @ 51 geat i Tewm i G e gew, i wm d w2

A
® =
€ TN
(D)  F@erdr

e feu T feppeal 4 @ T SUIFG SO T WA HITAT

(1) a4 (A) ¥R (B) (2 = (B) 3R (C)
(3 == (C) IR (D) @ FFa (A) 3R (C)
[Question ID = 2620][Question Description = Q42_GP_24NOY_S1_SHAAN_Shift1]

1. 1 [Option ID = 10477]
| 2. 2 [Option ID = 10478]
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| 3. 3 [Option ID = 10479]
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4. 4 [Option ID = 10480]

Carrect Answer ;-
& 1 [Option ID = 10477]

24) According to NEP-20 Secondary Education Comprises of classes
(1) VIII-X 2 X-XII
(3) IX-X 4 IX-XI

7% Foram +fifer = srraw areafes fen § Fefela e e 2 -

(1) VII-X (2 X-XI
@ IX-X 4 IX-XI

[Question ID = 2621][Question Description = Q43_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10481]
2. 2 [Option ID = 10482]
3. 3 [Option ID = 10483]
4. 4 [Option ID = 10484]
| Correct Answer ;-
e 1 [Option ID = 10481]

Prakrit languages have similarities and differences with Sanskrit in many ways,

Prakrit languages when formalized for literary use their variation from conventional vedic

languages was
(1) Pali (2) Ardhamagadh
(3) Apabhramsha (4 Hindi

A 9T T BORA % WY g ¥ Tl 9 @A i fafiand 2| uRa v v wtefoe w=m % o
gFag i T 79 o TRuie dfem am ® seeh fima o, 98 o -

(1) A (2) Tl
8) e 4 T

[Question ID = 2622][Question Description = Q44_GP_24N0VY_S51_SHAAN_Shift1]
1. 1 [Option ID = 10485]
2. 2 [Option ID = 10486]
3. 3 [Option ID = 10487]
4, 4 [Option ID = 10488]

Correct Answer ;-
e« 1 [Option ID = 10485]

40) As a result of Wood's Despatch, which of the following Universities were established in 18577
(1) Calcutta, Bombay and Madras
(2) Bombay, Madras and Delh1
(3) Delhi, Bombay and Calcutta
(4) Madras, Calcutta and Delhi
T % A % sienreae, fetafiga § @ F9 g fyataes $ wren @ 1867 ° 580

FAx ———rre—rT ﬂ'lﬂé'\'ﬁ'l‘m
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(4) g, mom i e

[Question ID = 2623][Question Description = Q45_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10489]
2. 2 [Option ID = 10490]
3. 3 [Option ID = 104%1]
4, 4 [Option ID = 104%2]

Correct Answer ;-
a 1 [Option ID = 10489]

Topic:- 03rd_Set7_C

" Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationists, research workers, professionals,
political leaders and social workers etc. besides playing theilr normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor 1dea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
mmadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral i1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners. because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

In higher education, in the context of promoting strong value orientation, which of the
following statement holds true?

(1) Provide opportunities to students to acquire scientific knowledge of high standards.
(Z) A Policy for development of values may be prepared.
(3) Offer courses related to inter disciplinary contemporary soclo-economic problems.

(4) The universities should aim to enrich technological dimensions.

T R e UG AR T T Wt % s S

TR ST FHat 1599F 3 TR W PRl ST TRieiipd Jod ST aaed MSTad il STTaeashal =i 371
o} aterr geeyel @ 1 TEal R | 59 W I SR 9 aies st el s ug sa & s,
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[Question ID = 2624][Question Description = Q46_GP_24N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 10493]
2. 2 [Option ID = 104%4]
3. 3 [Option ID = 10495]
4. 4 [Option ID = 10496)

Carrect Answer ;-
& 1 [Option ID = 10493]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationists, research workers, professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the 1mportance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
mmadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral issue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners. because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

The higher education system as of now emphasizes on

(1) Utilitarian values (2) Human values

(3) Social and Polhitical values (4) Spiritual values
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[Question ID = 2625][Question Description = Q47_GP_24N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 10497]

2. 2 [Option ID = 10498)

3. 3 [Option ID = 10499)

4, 4 [Option ID = 10500]

Correct Answer :-

» 1 [Option ID = 10497]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationists, research workers, professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor 1dea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the 1mportance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
iadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral i1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners. because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism, violence superstition and fatalism.

Value oriented curriculum at professional studies level 18 important
(1) To propagate the values Further

(2) To have a ghmpse of the issues of the poor and disadvantaged
(3) To balance other pedagogy. related deficiencies

(4) To train students as efficient resource agents
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[Question ID = 2626][Question Description = Q48_GP_24N0V_S1_SHAAN_Shift1]
1. 1 [Option ID = 10501]

2. 2 [Option ID = 10502]

3. 3 [Option ID = 10503]

4, 4 [Option ID = 10504]

Correct Answer :-

e 1 [Option ID = 10501]

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educationists, research workers, professionals,
political leaders and social workers ete. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 years of study, may have a poor idea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the importance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
mmadequate access to this kind of modern knowledge for the poor and disadvantaged groups
In our society constitutes a serious social and moral i1ssue.

Currmcular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values. oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism. violence superstition and fatalism.

The most switable Caption for the passage may be :

(1) Enforcing values in education

(2) Importance of values

(3) Value implementation

(4) Value basis for tertiary education and society
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[Question ID = 2627][Question Description = Q49_GP_24N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 10505]
2. 2 [Option ID = 10506]
3, 3 [Option ID = 10507]
4, 4 [Option ID = 10508]

Carrect Answer ;-
¢ 1 [Option ID = 10505)

Read the passage carefully and answer the question that follow

The need for continuing and reinforcing value oriented curriculum at the post graduate level
and level of professional studies may be considered even more important. Most of the
students trained at these levels are likely to become leaders of business and industry,
technocrats, leaders of thought, teachers and educatiomists, research workers, professionals,
political leaders and social workers etc. besides playing their normal roles as citizens and
family members like all other people. It appears that most of them at the time of leaving the
college after 3-6 vears of study, may have a poor 1dea of the values of freedon and human
dignity, the value of food, security and health care for millions of poor and disadvantaged
people, the 1mportance of correct public policies for managing societies and solving several
problems, the importance of proper human relations and personal life styles, etc. A good
number of them, however are now getting opportunities to acquire modern scientific and
technical knowledge of high standards particularly in some of our institutions of excellence,
comparable to the best institutions in the developed countries. But the problem of
imadequate access to this kind of modern knowledge for the poor and disadvantaged groups
1n our soclety constitutes a serious social and moral i1ssue.

Curricular reform and reconstruction on proper lines should be the active concern of
educationists and educational planners, because as pointed out in national policy document
1986, it can be a forceful tool for the cultivation of social and moral values. In our culturally
plural societies education should foster universal and eternal values, oriented towards the
unity and integration of our people. Such value education should eliminate obscurantism
religious fanaticism. violence superstition and fatalism.

In order to cultivate values, the higher education system should concentrate on
(1) Plugging pedagogical deficiencies

(2) Integrating technology

(3) Integrating technology with pedagogy

(4) Curricular reforms
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[Question ID = 2628][Question Description = Q50_GP_24NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 10509]
2. 2 [Option ID = 10510
3. 3 [Option ID = 10511]
4. 4 [Option ID = 10512)

Carrect Answer ;-
s 1 [Option ID = 10509]
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